NAIR Asst Mech Engg AME Asst Workshop Mngr AWM

Topic:- AWM_PA_NAIRAUG4
1) Nommalizing heat treatment in steels produces

e H AR gie cieHe 37 IR ol WHId I0d oidl 57

[Question ID = 859][Question Description = Q01_AWM_PA_NAIRAUG4]
1. Tempered Martensite / 2598 Hie@Ige

[Option ID = 3433]
2. Martensite | AICGISE

[Option ID = 3434]

3. Lower Bainite !?ﬁal?a:lﬁ?f

[Option ID = 3435]
4. Fine grained Pearlite / T U4 Uaiige

[Option ID = 3436]
Correct Answer :-
* Fine grained Pearlite / BT U4 Tdige

[Option ID = 3436]

2) The type of Oxyacetylene flame used for cutting of Mild steel is

TS Wi 31 $1eA o o wge SRR e sare &1 WeR 3
[Question ID = 860][Question Description = Q02_AWM_PA_NAIRAUG4]
1. Reducing flame ﬁﬁ'ﬁmﬂ%ﬁ-’{

[Option ID = 3437]
2. Oxidising Flame | SaEtSTS T TaH
[Option ID = 3438]

3. Neutral Flame / Zge |

[Option ID = 3439]

. None of the given choices is correct answer fﬁ'ﬁ{m’{ﬁm ﬁ"@lﬂﬂé U E‘Eﬁ*
WA S
[Option ID = 3440]
Correct Answer :-
* Neutral Flame / <J2& /i

[Option ID = 3439]

3) In which Incentive Scheme, Workers are classified as Direct Worker and
Indirect Worker

[ vicarga g © sfe! @ Tae IR emae Simt | Fified fawar am
37
[Question ID = 861][Question Description = Q03_AWM_PA_NAIRAUG4]
1. Chittaranjan Pattem Incentive Scheme / ﬁwaﬁmm

[Option ID = 3441]
Tirupali Pattern Incentive Scheme or Group Ineentive Scheme (GIS) /

" R e et o SR e de (g



[Option ID = 3442]

Both GIS & CLW Pattem Incentive Scheme / Sii2T50H 3k HEaas JeA
WIREIE dieT Gt

[Option ID = 3443]

Mone of the given choices is correct answer rﬁ:qmﬁmu’f b %_EE-EF Wi ggi
SR
[Option ID = 3444]

Correct Answer :-

® Chittaranjan Pattem Incentive Scheme / ﬁﬁﬁ?aﬁmm

[Option ID = 3441]

4) Which of the Fallowing is not true about Group Incentive Scheme?

TE® Uisie araq & & J FHafeiEa § | &5 91 5[ 99 e 87

[Question ID = 862][Question Description = Q04_AWM_PA_NAIRAUG4]
Irrespective of Work Content of Each Type of Siock  Unit of Account is

| 'SPU | TS YR & Wi @ 1 $1 Hel 36T T §

[Option ID = 3445]
SE & SSE in Shops get 15% Incenfive Bonus on their Basic Pay which is

not linked to Bonus earned by their Shop / szﬁqﬁq%ra‘ ﬂ?@ﬂ'ﬂgaﬁ
I Hel 904 & SR 15% HicETe a4 fHadl & & 37a) 919 g1l 3ifd
ElEER R L

[Option ID = 3446]
Unless there is Physical Dispateh of outturn, there is no incentive eaming /

3. T aF ASee & Wifie T (Rsfrea f3e) e el 8, e as ors
WIcHTE M &8 781 g &

[Option ID = 3447]

None of the given choices is correct answer / 5T T2 el & T @ig ¥ 981
TR E

[Option ID = 3448]

Correct Answer :-
SE & SSE in Shops get 15% Incentive Bonus on their Basic Pay which is

R not linked to Bonus earned by their Shop / Eﬁqﬂqﬂ§ «#R'wqaé'a%‘r
Tor O 90 & SR 15% Hicig a4 [Hedl ¢ @ 3! 2] gRT 3
ElEER R i

[Option ID = 3446]

5) As per Factory Act 1948 | How much can be maximum weekly duty houres
of an Adult Worker?

Thac] ST 1948 & 9K Us 905 4iie & HUsad araes &1
HUE fie &1 W 52
[Question ID = 863][Question Description = Q05_AWM_PA_NAIRAUG4]
1. 50 Hours / 50 ¢
[Option ID = 3449]
2. 51 Hours / 51§

[Option ID = 3450]
3. 48 Hours / 48 ©¢



[Option ID = 3451]

None of the given cheices is correct answer fﬁqmﬁﬂﬁﬂﬂﬁaﬁﬁ i gg
IR o

[Option ID = 3452]

4.

Correct Answer :-
* 48 Hours / 48 ¥

[Option ID = 3451]

6) Formula used to convert Actual Time to Normalized time is:

AAG® TAY @I SR §99 I gikatid s @ o W 94 o

[Question ID = 864][Question Description = Q06_AWM_PA_NAIRAUG4]
1. (Actual Time X Observed Rating)/80 / {dimf&ctn THY x Hleses QEJIJJSD

[Option ID = 3453]
2. (Actual Time X Observed Rating)/70 / talﬁiam T x 3fesos EIEIIJF{D

[Option ID = 3454]
3. (Actual Time X100)/80 / (9T d T x 100)/80

[Option ID = 3455]

None of the given cheices s correct answer fﬁqﬂt{ﬁﬂﬁﬂﬂﬁﬂﬁﬁ dimer
TR

[Option ID = 3456]

Correct Answer :-

* (Actual Time X Observed Rating)/80 / (GTia® THT x Hlegios Lemy80

[Option ID = 3453]

7) Forged wheels are fitted in which of the following types of rolling stock?

P @i M 1 § 55 ISR & 99 e 1 (e [ o 32

[Question ID = 865][Question Description = Q07_AWM_PA_NAIRAUG4]
1. |GF Coach / 378 31 U6 &ig

[Option ID = 3457]
2. BOXNHL Wagons / 9149.5.09.06 974

[Option ID = 3458]
3. LHB Coaches /T I9 &l &

[Option ID = 3459]

None of the given choices s correct answer fﬁﬂ”ﬁ'ﬁﬁ‘ﬁ ﬁﬁﬂﬁ% ﬂﬂ_ﬂ_ﬁﬁ
SR

[Option ID = 3460]

Correct Answer :-

* LHB Goaches /G 09 &l I

[Option ID = 3459]

8) Proposals under which of the following categones should mandatonly be
supplemented by Rate of Return?

FafaRaa & 9 feg ofi & varel &l sl U S Red ot R e Oy
wEaniga o o afge?

[Question ID = 866][Question Description = Q08_AWM_PA_NAIRAUG4]



1. DF/Bium
[Option ID = 3461]
2. DRF /3 ARTH

[Option ID = 3462]

3. Capital | ided

[Option ID = 3463]

None of the given cheices is cormect answer AR et ﬁﬁ?ﬁ‘iﬁ i 35l
TR
[Option ID = 3464]

Correct Answer :-

* Capital | Bied

[Option ID = 3463]

9) 'Which ane of the following is NOT a purpose of putting Primer before
Painting?

tfeT & uge W S @l SRy Hafeiad H § wike el o2

[Question ID = 867][Question Description = Q09_AWM_PA_NAIRAUG4]
1. Enhancing the durability of Paint / Ue @1 C@rg o sgr

[Option ID = 3465]
2. Improving corsion resistance / &R WioRIY & FUR

[Option ID = 3466]
3. Changing Color of the surface /A8 &1 T dga-l

[Option ID = 3467]

Mone of the given choices is correct answer / ﬁT{Wﬁﬁﬂ | Eh:ié ﬂh—'@
SR o

[Option ID = 3468]

Correct Answer :-

® Changing Color of the surface / Fdg &1 ¥ ol

[Option ID = 3467]

10) Which of the following is the pnimary purpose of using anti-corrosive primer

in the painting of railway coaches?

{erd il @i Uicy H GEl-Hante UigHe o1 9Uan] S Bl Nihd Geud
FefRea g a7

[Question ID = 868][Question Description = Q10_AWM_PA_NAIRAUG4]
1. Enhancing the aesthetic appeal of the coach / BIF DI Hiay AUF Eﬁ"fﬁla_ Bt

[Option ID = 3469]
Preventing rust and corrosion on the metal surface / 4Tg &1 ¥og U% 97 3

&RUT B AHT

[Option ID = 3470] _

Reducing the noise level inside the coach | T b 3G IR & W Bl &H
gl

[Option ID = 3471]

None of the given choices is correct answer / feu m fopmi o g Hﬂ'{f i wat
[Ch R

[Option ID = 3472]



Correct Answer :-
. Preventing rust and corrosion on the metal surface / g 1 Fog gL i

&1 1 T

[Option ID = 3470]

11) Which of the following statements correcily compares alkyd paint and PU

(Polyurethane) paint?
PR & 3 B 1 e tets e 3 g (aidiayde) U o ol qeer
FA 87

[Question ID = 869][Question Description = Q11_AWM_PA_NAIRAUG4]
Alkyd paint has better chemical and abrasion resistance compared to PU

1. paint. / 99 Ue & o TS Ue § Sgar 9 ik aeor ufeRry g
3

[Option ID = 3473]
PU paint offers superior durability and resistance to weathering compared

2. to alkyd paint /g e Trbgs Ue &1 gomm H sgo8 =ife R fe9 S ufd
AfeRtY war S g

[Option ID = 3474]
PU paint typically has a longer drying time than alkyd paint. / [ﬁﬁﬁ'ﬂ #

AR IR Uedhlgs Ue @) qaml 8 g | s 99d @ g

[Option ID = 3475]

MNone of the given choices is correct answer fﬁ{t{ﬂf{ﬁﬁff i ﬁ‘tﬁ% ot Tt
SRS

[Option ID = 3476]

Correct Answer :-
PU paint offers superior durability and resistance to weathering compared

* to alkyd paint /i e Trgs Ue &1 gomT H SR =1fie R Tm $ ol
HitRIY We Bl 8

[Option ID = 3474]

12) ‘Which Process is primarily used for manufactuning of Axles used in wheel

sets of Railway Coaches?

@d il & i UE H Wga Uahd & I & e Heid: e wiban &l
I {87
[Question ID = 870][Question Description = Q12_AWM_PA_NAIRAUG4]
1. Forging / Tifef

[Option ID = 3477]

2. Casting / @IET

[Option ID = 3478]

3. Welding / afegT

[Option ID = 3479]

None of the given cheices is correct answer fﬁ‘qmﬁ?ﬁﬁﬂ@raﬁﬁ i og
IR o

[Option ID = 3480]

Correct Answer :-



® Forging / i

[Option ID = 3477]

13) ‘Which of the following is a significant benefit of using CNC machines In

manufacturing processes?

fafrmioy ufsznad o S g . oeiA & Sug & aRomreEey PeEa T g
o T HeEY A E7
[Question ID = 871][Question Description = Q13_AWM_PA_NAIRAUG4]
: Lower initial setup costs compared te manual machines / ﬂﬁa{ﬂ aeiiE @t
ol © & YRS e arm

[Option ID = 3481]
Reduced precision and accuracy in machining operations / R IE I

' o w1 Teg AR A

[Option ID = 3482] _
Increased production speed and repeaiability / STed ®] Td AR TERE H

[Option ID = 3483] _
None of the given choices |s correct answer !E‘Q Tﬁ:{ﬁﬂﬁﬂ‘f ffﬁﬁ i H‘Eﬁ
SR G §

[Option ID = 3484]

2

3.

Correct Answer :-

Increased production speed and repeatability /3G GARi e 'tﬁfﬂﬁl "

[Option ID = 3483]

14)  Which one of the following is not an advantage achieved by normalising

process in the manufacture of Indian Railway rolling stock wheels?

YTl ¥erd ATeiT wies woid & A H St uiem R Refofea g 1
I T A W e 8l 87

[Question ID = 872][Question Description = Q14_AWM_PA_NAIRAUG4]
1. Relieve internal stress / E‘L‘Wéﬁ! Gl E?E?HT

[Option ID = 3485]

2. Achieve uniform grain structure / TSI 3 SCaeR UT A1
[Option ID = 3486]

3. Improving Machinablity / FRI-TTaTe] H FR

[Option ID = 3487]

MNone of the given choices is correct answer fﬁ{t{ﬂf{ﬁﬁff i ﬁ‘tﬁ% ot Tt
SRS

[Option ID = 3488]

Correct Answer :-

R None of the given choices |s correct answer / ﬁl{ﬂ{ﬁw ﬁ@["cﬁ'a‘ |
TR

[Option ID = 3488]



15)  Which of the following coach Production Units is newest in Indian
Railways?

Ffaia § 9 o 9 $iE Sde 5ok YRAH Yod § =08 §2

[Question ID = 873][Question Description = Q15_AWM_PA_NAIRAUG4]
1. |cF 3R dtus

[Option ID = 3489]
2. MCF /EH T TE

[Option ID = 3490]
3. RCF/3RE TR

[Option ID = 3491]

Mone of the given choices is correct answer AR e d Y T:i'ﬂé Ui E‘a&
TR
[Option ID = 3492]

Correct Answer :-

* MCF /TH Tl U

[Option ID = 3490]

16) \Which is the oldest working Coach Manufacturing Production Unit of Indian
Railways?

YIRAITE ¥o7d @1 T QR SR i A0 Sie Sols iF 9 67

[Question ID = 874][Question Description = Q16_AWM_PA_NAIRAUG4]
1. |cF /3 qtuw

[Option ID = 3493]
2. RCF/ R Y UH

[Option ID = 3494]
3. MCF (THHl T®

[Option ID = 3495]

None of the given choices is correct answer [ FCTE ma ﬁﬂv_cf‘ff ﬂ @f Hﬂﬁ o H‘@ﬁ“
SR §

[Option ID = 3496]

Correct Answer :-
* |CF /B dtuE

[Option ID = 3493]

17) ‘Which of the following welding technigues uses non-consumable
electrode?

Fafaran § 9 o0 9 oS e 1R-0UHS Soaeis & 3Ugi &0l 87

[Question ID = 875][Question Description = Q17_AWM_PA_NAIRAUG4]
MG o I Sl

[Option ID = 3497]

2. TiG /& S

[Option ID = 3498]
3. MAG/THTS]

[Option ID = 3499]



None of the given choices is correct answer / RN Aeeid g Hﬂ'{ o8l
TR o

[Option ID = 3500]

4.

Correct Answer :-

* TIG/d g

[Option ID = 3498]

18) As per provisions of Indian Railway Rolling Stock Code, which of the

following costs is not a part of Prime cost?

YR S T Wi ®is & WEyH & AER, Fafata § 9 sE
TG WIEH Siee &1 e el 87
[Question ID = 876][Question Description = Q18_AWM_PA_NAIRAUG4]
1. Direct Labour Cost / Ted& %5 TN

[Option ID = 3501]
2. Direct Material Cost / Uea& TTHUT @17G

[Option ID = 3502]
3. On Costs/ 3H HiE

[Option ID = 3503]

None of the given choices is correct answer / feu e fameai 4 fﬁﬁF i W@l
SRR ©
[Option ID = 3504]
Correct Answer :-
* OnCosts /| AF HIE

[Option ID = 3503]

19) What is the full form of ROAMS portal?

ROAMS UIEe @l U0 &1 &1 37
[Question ID = 877][Question Description = Q19_AWM_PA_NAIRAUG4]
1. Rolling Stock Asset Monitoring System / 2T Wids Tae Ael firen
[Option ID = 3505] _
2. Rolling Asset Monitoring System / el Tie AiHel fien
[Option ID = 3506]
3. Rolling Asset Management System / fem 'J_@’r_' ree Rreew
[Option ID = 3507]
MNone of the given choices is correct answer / fGue IGEA Rk fﬁ’{ i
SR T
[Option ID = 3508]
Correct Answer :-

® Rolling Asset Management System / EUTL @E Tee e

[Option ID = 3507]



20) arks initiated for replacing old assets after their codal life is over are

charged against
TR GGt & Bisd a5 SATG 8 & 416 90 8Ger 8 Mg &
e & weaTfad far S g

[QuestionlID = 878][Question Description = Q20_AWM_PA_NAIRAUG4]

1. pFa/dluma

[Option ID = 3509]
2. DRF /3! 3RTHE

[Option ID = 3510]

3. Capital / Hfoed

[Option ID = 3511]

None of the given choices is correct answer / ﬁ'l{ e Temidg Eh:!§ i ?EEﬁ’
SRS

[Option ID = 3512]

Correct Answer :-

® DRF/BARTEH

[Option ID = 3510]

21) Which of the following types of fire extinguishers should net be used to
guench 'C’ class of fires?

Fafafed 9 e ver & e 32 &1 S i o B A g &
o =2 fopa =i Tfgw?

[Question ID = 879][Question Description = Q21_AWM_PA_NAIRAUG4]

1. DCP Extinguishers ( St 31 4 Hfogmas g3

[Option ID = 3513]
2. 02 Extinguishers / Tt 3.2 Jfiemos 47

[Option ID = 3514]
3. Foam Type Fire Extinguishers | ThiH UeETY 2Afemes 9

[Option ID = 3515]
4. APW Extinguishers / €Ul Ssvg HiU2mS 94

[Option ID = 3516]

Correct Answer :- Deleted

22) Which of the following shortcomings will not commonly lead to train
pariing?

FofaRea & ¥ &F 9 FOEaan THEra: o Ui & SR g 2
[Question ID = 880][Question Description = Q22_AWM_PA_NAIRAUG4]

- neffective anti-creep device / Eﬂqfﬁﬁiﬁ f{ﬁ—ﬁﬂq %ﬁlﬂﬁ

[Option ID = 3517]
Excessive play between anti-rotation lug and bearing piece slot / Q"L‘ET—R;J%Q -

- T AR AR i e & d sfe @

[Option ID = 3518] _
3. Lock properly engaged / i B T T EG-IT%

[Option ID = 3519]



MNone of the given choices is correct answer / feu e fameat ﬂ’ﬂﬁ i =@t
TR D
[Option ID = 3520]

Correct Answer :-

® Lock properly engaged / Wi 31 F @ B3l %

[Option ID = 3519]

23) What is the service (codal) life (in years) of non-AC LHB and non-AC ICF
coach, respectively?

AU e Tl SR A 2 4 U S B U] @i (Gled aeh)
91 H sHLE: S 87

[Question ID = 881][Question Description = Q23_AWM_PA_NAIRAUG4]
1. 25,25

[Option ID = 3521]
2. 35,25

[Option ID = 3522]
3. 3535

[Option ID = 3523]

None of the given choices is camect answer / E'E M foFmida Hﬂf o H‘@Pf
SR O

[Option ID = 3524]

Correct Answer :-

® 35,25

[Option ID = 3522]

24) Balanced draft gear absorbs energy in which of the following modes?

Foits g R Fafafea § 9 g oig § 3a 2@ty o 32

[Question ID = 882][Question Description = Q24_AWM_PA_NAIRAUG4]
1. Draw mode only / $ad 3T 918

[Option ID = 3525]
2. Buffing mode only / Had AT HIE

[Option ID = 3526]
3. Both draw and buffing modes / 31 31 2 afthTT AIS

[Option ID = 3527]

None of the given choices is corect answer / fge e i g g ?ﬁf FEe il
FWRTE o
[Option ID = 3528]

Correct Answer :-

* Both draw and buffing modes / &I 31 3 &b 7S

[Option ID = 3527]



25) \Which of the following gauges are not used in the inspection of coaching

couplers in LHB coaches of Indian Railways?

YR 36 o Ue g o Bl § Sl euer & e # PafEaa g
B 1 TS SR ST o S 32

[Question ID = 883][Questio_n Description = Q25_AWM_PA_NAIRAUG4]
1. Tyre Defect Gauge | 2R fathae e

[Option ID = 3529]

2. Aligning Wing Limit Gauge / SaR R a1 fafte 719

[Option ID = 3530]

3. Guard arm distortion gauge / e 3 feereF e

[Option ID = 3531]

4. Contour Maintenance Gauge / E’Eﬁﬂ%ﬁﬂﬂﬂ
[Option ID = 3532]

Correct Answer :-

* Tyre Defect Gauge | 2R fotae T

[Option ID = 3529]

26) |feamed KM run is below the stipulated limit, what is the periodicity (in
moenths) of 531l schedule of LHB coaches in Indian Railways?

Al el eaiiex FHeifa 9 & &0 8 O YRa wad | o ga o ®idl di
U 0H- Il I @ 2maftean (AgHl o) ol griie
[Question ID = 884][Question Description = Q26_AWM_PA_NAIRAUG4]
18
[Option ID = 3533]
2. a5
[Option ID = 3534]
3. 72

[Option ID = 3535]

None of the given cheices is cormect answer | Tge e fawet ﬁﬁ?ﬁ‘iﬁ i 58
TR T
[Option ID = 3536]
Correct Answer :-
® 72
[Option ID = 3535]

27) InICF coaches, the distance between two wheel flanges on the same axle
should be

3% 4l U @idl J U9 o Uand U2 &l Uiy Wie & ard @] gl fha gl
TqIge?
[Question ID = 885][Question Description = Q27_AWM_PA_NAIRAUG4]
1. 1600°Z; mm / 1600+ fHAT
[Option ID = 3537]
2. 1600*"+ mm / 1600+ foedt

[Option ID = 3538]
3. 1B00~"2 mm / 1600+ firet



[Option ID = 3539]

None of the given choices is correct answer / ETI m ECausiEs g 313@ o FEEPI
ST el o
[Option ID = 3540]

Correct Answer :-

® 16002 mm / 1600+ T

[Option ID = 3537]

28) In WSP system in LHB coaches, the speed sensor scans which of the

following to get an indication of coach speed?

e uE i w T Seenad yone #, Fr & it &1 U e 53 eg wiie
T Tl 4 ¥ fas @ & 57

[Question ID = 886][Question Description = Q28_AWM_PA_NAIRAUG4]
1. Brake disc / 8% [3%&

[Option ID = 3541]

2. Phonic wheel / B i
[Option ID = 3542]

3. Wheel disc / @id f&%®
[Option ID = 3543]

4. Axle |/ TdHT
[Option ID = 3544]

Correct Answer :-

* Phonic wheel / BIfE &ie

[Option ID = 3542]

29) Dunng Air Brake Testing of ICF coaches on Single Car Test Rig, what

should be rate of Pressure drop for insensitivity test?

e R e R o Ares ¥ ong, ¥ U Sl & U §i OHaT & g,
ZTffefadt Teiem & fo/e TSR 319 & &% |1 g argy?

[Question ID = 887][Question Description = Q29_AWM_PA_NAIRAUG4]
1. 0.8 Kglem?'in 6 seconds / 6 9&8 H 0.6 e

[Option ID = 3545]

2. 0.3 Kgfer? in 60 seconds | 60 3ds & 0.3 feammad

[Option ID = 3546]

3. 0.6 Kg/em? in 60 seconds / 60 ¥&e H 0.6 [z

[Option ID = 3547]
MNeone of the given choices is commect answer / f&[{ﬂqﬁﬁﬂfﬁ %Eﬁ% ﬂﬂﬁiﬁ
TR el 8

[Option ID = 3548]

Correct Answer :-

* 0.3 Kg/en¥ in 60 seconds / 60 B8a H 0.3 fEammgade

[Option ID = 3546]



30) ‘What is maximim permissible Buffer height in BG Coaches in Indian

Railways?

HIRET ¥oid | sfell @oral @ Htbar HHd a0 g15¢ 31 572
[Question ID = 888][Question Description = Q30_AWM_PA_NAIRAUG4]
1. 1110 mm / 1110 TFHT

[Option ID = 3549]
2. 1105 mm / 1105 &t

[Option ID = 3550]
3. 1090 mm / 1090 TBH

[Option ID = 3551]

None of the given cheices is cormect answer fﬁ@ﬂﬁﬂﬁﬁﬁ@ﬁfiﬁ i gt
TRAEE
[Option ID = 3552]

Correct Answer :-

® 1105 mm /1105 T

[Option ID = 3550]

31) What is maximum permissible flat surface on wheel tread of BG ICF

coaches?

F ol A F.UE. Bl & @id o8 W AfiEan HHE wie Wi $1 9 #n
82

[Question ID = 889][Question Description = Q31_AWM_PA_NAIRAUG4]
- 50 mm /60 faet

[Option ID = 3553]
2. 50 mm {50 FET

[Option ID = 3554]
3. 75mm /75 o

[Option ID = 3555]

None of the given choices is correct answer !%Q ‘W.ﬁfb_tfﬁ ﬁﬁﬂﬂ?f ﬂ-'l’[HEﬁ
SR g
[Option ID = 3556]
Correct Answer :-
* 50 mm/ 50 fEE!

[Option ID = 3554]

32) Which of following method can not be used for mounting new spherical

roller bearing on axle journal?

P & & o 9 37 o7 3ug vegd S U8 T S et g
W] AT - o [e0 -Te1 ohdl ] Hebell 87
[Question ID = 890][Question Description = Q32_AWM_PA_NAIRAUG4]
Heating Bearing by Oil Bath Method / 2i1ae &y faft gry feafm &
' el
[Option ID = 3557] .
2. Heating Bearing by Induction Heater / 589 2ice & faafar &t T S



[Option ID = 3558]
3. Hydraulic Pressing Bearing on Axle Joumnal EQ?EIHGI#ET WWW
BRIl

[Option ID = 3559]

None of the given cheices is cormect answer fﬁ'&@ﬁaﬁﬁﬁ@faﬁﬁ 'ﬁl?ffﬁ
TR 8

[Option ID = 3560]

4.

Correct Answer :-
Hydraulic Pressing Beanng on Axle Journal J‘Qﬂﬂaﬂ"iﬁ WWW
Bl

[Option ID = 3559]

33) What is maximum penmissible |eakage rate in Brake Pipe of ICF Coaches
during Leakage Test on Rake Tesi Rig?

I o T R dioee <7 & G A5 9106 @il & s gy § Afead
i@ Wit 3¢ T/ 87

[Question ID = 891][Question Description = Q33_AWM_PA_NAIRAUG4]

1. 0.3 Kg/em? per min / 0.3 feammrade ufa fime

[Option ID = 3561]

2. 0.2 Kg/em? per min / 0.2 fpammaast ufy fime

[Option ID = 3562]

3. 0.4 Kgicm? per min / 0.4 feammadiz uft fame

[Option ID = 3563]

MNone of the given choices is commect answer / fﬁ[{“’f‘!ﬁmﬁ %ﬁé ﬁfﬁiﬁ
TRAE e

[Option ID = 3564]

Correct Answer :-

* 0.2 Kg/cm? per min / 0.2 fraimmaasd ol e

[Option ID = 3562]

34) What should be value of Dimension 'A' between control rod head and
Barrel Head in slack adjuster of ICF coaches for 16.25 T Bogies?

16.25 T A1l & 2T5.41.UF ®ial & WP Tsered § HUeld IS o8 R
I S 419 SEHTA T &1 O &1 B 91

[Question ID = 892][Question Description = Q34_AWM_PA_NAIRAUG4]
1. 22¢25 mm / 222 THAT

[Option ID = 3565]
2. 29+ mm / 22+2, TR

[Option ID = 3566]
3. 202 mm/ 202 iRl

[Option ID = 3567]

None of the given choices is correct answer fﬁqmﬁﬁﬁ ﬁﬁaﬁﬁ ﬂﬂ_ﬂ_ﬁﬁ
TWRAE 6

[Option ID = 3568]

Correct Answer :-



® 22:%; mm /| 222 TEAT

[Option ID = 3565]

35) At which pressure, Auxiliary Reservoir of Air Brake Sysiem of BG ICF
Goaches is charged?

A A i up. Bl & U o9 e & sifaedl feeaiar & fvw TR
T G [T el 27

[Question ID = 893][Question Description = Q35_AWM_PA_NAIRAUG4]
1. 5 Kglem? / 5 frammaadi

[Option ID = 3569]

2. §Kglem?/ 6 FammEmTR

[Option ID = 3570]

3. 10 Kg/ecm? / 10 Traiamguie
[Option ID = 3571]

None of the given choices is correct answer / ﬁqwﬁaﬁ@fﬁ @Iiﬁﬁ i Tl
TR 3
[Option ID = 3572]

Correct Answer :-

* §Kglem?/ 6 forammERE

[Option ID = 3570]

36) How much is length of AC Two Tier LHB Coach over CBC?

T 3o v va & & @ o d§ @ & S s o g
[Question ID = 894][Question Description = Q36_AWM_PA_NAIRAUG4]

1. 23540 mm / 23540 TOH

[Option ID = 3573]
2. 24000 mm / 24000 et

[Option ID = 3574]
3. 23800 mm / 23900 HH

[Option ID = 3575]

None of the given choices is comect answer | FCTE M ﬁﬂv_:f‘ff g Hﬂﬁ Ehi H‘@Pf
TR B

[Option ID = 3576]

Correct Answer :-

® 24000 mm / 24000 o

[Option ID = 3574]

37) Atwhich stage of suspension system of LHB coaches is Air Spring used?

UA.Ud§ i & TS Yunel & g 99ur § v &I &1 39anT fdar s
Eod

[Question ID = 895][Question Description = Q37_AWM_PA_NAIRAUG4]
1. Primiary Suspenision Stage / W4 SEIgH &9
[Option ID = 3577]

2. Secondary Suspension Stage / fadig gigm =



[Option ID = 3578]
Both Primary and Secondary Suspension Stage /ATt 3R fEdy oedem

S T

[Option ID = 3579]

None of the given cheices is correct answer / l%qﬂuﬁaﬁcﬁﬁ } Hﬂ§ g mgl
TR 8

[Option ID = 3580]

3.

4.

Correct Answer :-

® Secondary Suspension Stage / fgaid TEgH ©F

[Option ID = 3578]

38) What is the air pressure (in Kg/cm?) within the Feed Pipe (FP) of ICF
Ceach?

e oY & Wis Uy () & Wiar gdr @ aaig (e uf SEr
) fesa g 27
[Question ID = 896][Question Description = Q38_AWM_PA_NAIRAUG4]
1. 4
[Option ID = 3581]
2. 5
[Option ID = 3582]
3. g
[Option ID = 3583]

None of the given choices is comect answer / E“q m ﬁaﬁcﬁ 0y Hﬂ'{f i Hﬁpf
SRS
[Option ID = 3584]
Correct Answer :-
® 6
[Option ID = 3583]

39) Which one of the following instruments has lowest Least Count of

measurement?

TiaiEa H ¥ Tobw TUeBRY b GRT A1 @1 3eaaHis o g7

[Question ID = 897][Question Description = Q39_AWM_PA_NAIRAUG4]
1. Metre Scale / HieT Tl

[Option ID = 3585]

2. ernier Calliper / 9= Fiem

[Option ID = 3586]
3. Serew Gauge | BF TS

[Option ID = 3587]

None of the given choices is correct answer / Fc{f{ el ﬁﬂﬁffﬁ @i Hﬂg o HE»PT
SR 3

[Option ID = 3588]

Correct Answer :-

* Screw Gauge / TF 79

[Option ID = 3587]



40) Which one of the following denotes LHB AC Chair Car Executive Class?

Fefeiaa & © @in 91 uduas] ol TuR SR uasiadfed oo @i Guid 87

[Question ID = 898][Question Description = Q40_AWM_PA_NAIRAUG4]
1. | WSCZAC / Ua s ua dl s vl

[Option ID = 3589]
2. |\WFCZAC / U0 S6eq U 4l oIS T 41

[Option ID = 3590]
3. LWGFAC / Ud Scd 5il U5 T Hl

[Option ID = 3591]
Neone of the given choices is comect answer [ fau e forida Hﬂ# tiger
TR

[Option ID = 3592]

Correct Answer :-

* |LWFCZAC / U S&°4,0F 9 98 04t

[Option ID = 3590]

41) Competent Authority for approving premature condemnation of accident

damaged wagons is:
gHfee o eftare 3 o1 wagd PR v @l Hed 39 @ fo wem
At T

[Question ID = 899][Question Description = Q41_AWM_PA_NAIRAUG4]
1. PCME with Finance concurrence / fa TR @ Ty didfiegs

[Option ID = 3593]
2. PCME without Finance concurrence / o ﬂﬁﬂﬁ'ﬁ jt}? ﬁ;ﬂ Iﬁiﬂﬂﬂg
[Option ID = 3594]

3. SrDME with Finance concurrence / ﬁﬁﬁ%ﬂﬁﬁimﬂiﬂﬁﬂ?m

[Option ID = 3595]

4. GM without Finance concurrence / ﬁﬁﬂ'ﬁﬂqﬁ ﬁﬁﬂT Gﬂ'Q‘lI[
[Option ID = 3596]

Correct Answer :-

® PCME without Finance concurrence { o ﬂﬁﬂfﬁ + Goll Tﬂ@?ﬂg

[Option ID = 3594]

42) Departmental wagons are normally used upto an age limit of how many

years, on condition basis?

farurfia T &1 ST G SR UaES o & YR R e ad @l
T A A o o 27

[Question ID = 900][Question Description = Q42_AWM_PA_NAIRAUG4]
1. 45

[Option ID = 3597]
2. 9

[Option ID = 3598]
3. 30



[Option ID = 3599]
4. 4p

[Option ID = 3600]
Correct Answer :-
® 40

[Option ID = 3600]

43) second and subsequent POH of BOXNHL wagon should be carried out

after how many years?

BOXNHL 374 @1 ge] 2fR 39 a5 & POH fdsa a8l & 2fcvra | e
Sl EIige?
[Question ID = 901][Question Description = Q43_AWM_PA_NAIRAUG4]
1.
15

[Option ID = 3601]
2. 9§

[Option ID = 3602]
3. 3-5

[Option ID = 3603]
4. 45

[Option ID = 3604]
Correct Answer :-

® 45

[Option ID = 3604]

44) Permissible maximum design speed (as per RDSO instructions) for
BOXNHL wagon in empty condition is

e R H BOXNHL 371 o T80 3T aiftieha fSwme T (RDSO
=l & o) o o

[Question ID = 902][Question Description = Q44_AWM_PA_NAIRAUG4]
1. 75 kmph / 75 foe ufd o2

[Option ID = 3605]
2. 90 kmph / 90 fET uf B2

[Option ID = 3606]

3. 100 kmph / 100 i Ut w2
[Option ID = 3607]
MNone of the given choices is correct answer / %QWﬁﬁcﬁﬂ ﬁﬂi\lﬁ '-Lﬁﬂ_tﬁ
[Option ID = 3608]

Correct Answer :-

* 100 kmph / 100 {5t wfey €2

[Option ID = 3607]



45) The Onginating Brake Power for air braked goods trains running in close
circuit {CC rakes), shall be:

il fdre (Ml 3@ F Fo drell Bo sl el Herniaal & fag
[Question ID = 903][Question Description = Q45_AWM_PA_NAIRAUG4]
1. 90% (Ninety percent) / 90% (FTssl HfTEId)

[Option ID = 3609]
2. 95% (Ninety-five percent) / 95% (ﬂﬂﬁa ﬂﬁﬁlﬁ}

[Option ID = 3610]
3. 100% (Hundred Percent) / 100% (Sid Wid=id)

[Option ID = 3611]

Mone of the given choices is cormect answer fﬁ![{ﬂﬁﬁﬁ‘ﬂ b s Eﬁé ‘J?IHEF?
TS T
[Option ID = 3612]

Correct Answer :-
® 100% (Hundred Percent) / 100% (X1d W)

[Option ID = 3611]

46) Fourth and fifth digit in new wagon numbering scheme {11-digit) represent

which one of the fallowing?

2 4 wafen OieET (11 2i6) # 9@ 2R vieat 2 Foffea g9 e
gl g7
[Question ID = 904][Question Description = Q46_AWM_PA_NAIRAUG4]
' Owning Railway / 21T Yo
[Option ID = 3613]
2. Type of wagon / 37T & TER
[Option ID = 3614]
3. Year of manufacture / Fmafor ad
[Option ID = 3615]

MNone of the given choices is comect answer / ﬁ'q m ﬁﬁﬁcﬁﬁ%?ﬁ'@; o H‘Eﬁ
SR T

[Option ID = 3616]

Correct Answer :-

Mone of the given choices is correct answer / ﬁfq i mﬁ@i?ﬂé Ehi 1 ?EI_E-PT
SR

[Option ID = 3616]

47) Fillin the blanks respectively in order in the following statement:

The BPC of premium rakes shall have a validity of days with

days' additional grace period to facilitate examination in unloaded condition.

Frafea sue H e e wFl o1 gid w4
T Yo @t S @ e fef @1 g, | g eFaiss feuf o
e @ gau & o et 1 aifafeaa ge 2@ Ot ea= 3

[Question ID = 905][Question Description = Q47_AWM_PA_NAIRAUG4]



1.12.3

[Option ID = 3617]
2. 15‘ 3

[Option ID = 3618]
3 12,0

[Option ID = 3619]

None of the given choices is correct answer fﬁf{ T ﬁﬂ'ﬁfﬁ oy Eb:FQF o ﬂ'ﬁﬁ
SR A ©
[Option ID = 3620]

Correct Answer :-

. None of the given choices is correct answer a’ﬁT{ e ﬁﬂﬁ‘ﬂ Og Ehzl'gf i HE-PI
IR B

[Option ID = 3620]

48) In Indian Railway wagon operations, in which of the following conditions is
GDR check not essential if TXR is not available?

YR Yo 9T aivarem §, e o ¥ e e J TXR Suas 3 59
TR GDR i G0 5] 87
[Question ID = 906][Question Description = Q48_AWM_PA_NAIRAUG4]
1. After tippling / feufein & =1g

[Option ID = 3621]
After rake is stabled for more than 24 hours | 3% & 24 ¥¢ ¥ s Ira oF
WA g & 915
[Option ID = 3622]

3. After loading / back loading of a rake / X& @I AiS Se-i/ad allaT & 9IG
[Option ID = 3623]

, After rake is stabled for more than 12 hours Jim 6 12 9 H A g TE
TId A & 95

[Option ID = 3624]

2.

Correct Answer :-
After rake is stabled for more than 12 hours / ¥& © 12 ¥ § Jfte 909 06

TIA G & 96

[Option ID = 3624]

49) What is the maximum permissible flat surface/spot on BG wagon wheel
tread in Indian Railways, detected with the help of tyre Defect Gauge?

HIReTg ¥ad sl a7 & @id o8 IR eRR [3thae 7w & HIEH 3 AT &l

[Question ID = 907][Question Description = Q49_AWM_PA_NAIRAUG4]
1. 50 mm /50 fiET

[Option ID = 3625]
2. 60 mm/ 60 e

[Option ID = 3626]
3. 75 mm/ 75 A

[Option ID = 3627]



4. None of the given choices is cofrect answer | ﬁ?ﬁ{ﬂqﬁaﬁ‘ﬂ g Ehaiﬁ ‘Jﬂﬂfﬂ
TR B
[Option ID = 3628]
Correct Answer :-

® 80 mm /B0 &

[Option ID = 3626]

50) Dunng checking of continuity and leakage in a wagon rake having twin pipe
air brake system, what Is the minimum permissible BP pressure (in kg/cm2)

in guard brake van of ‘a rake having 58 BOXN wagons?

&1 U150 TR S a1l 97 < § Piiedgel MR ol siid & GIRH, 58 BOXN
Il aTe ¥ S 59 a7 § grod Wier 8P gad (Reammm/adiz #) F
£

[Question ID = 908][Question Description = Q50_AWM_PA_NAIRAUG4]
1.
48

[Option ID = 3629]
2. 47

[Option ID = 3630]
3 48

[Option ID = 3631]

MNone of the given choices is correct answer / EQ"TT{ e d o Eﬁ?{: t1i Hﬁ’f
B Rl ©
[Option ID = 3632]

Correct Answer :-

® 48

[Option ID = 3629]

51) Number of snubber springs per bogie of BLCA wagon is:

e 3 B ult T T wes B o den e
[Question ID = 909][Question Description = Q51_AWM_PA_NAIRAUG4]
1. 13
[Option ID = 3633]
2. 4

[Option ID = 3634]
3. 5

[Option ID = 3635]
4. 8

[Option ID = 3636]
Correct Answer :-
4

[Option ID = 3634]



52) During air brake testing of wagon rakes having twin pipe air brake system,
what s the maximum permissible leakage rate (in ka/cm2 per min) in the

Brake Pipe pressure in Leakage Rate Test?

T2 UT5 Y TR 5 TS 9T 9 o TR § O] B SR, T o | 5
39 gad | 2RISR 3HY diew < (a2 uii fime &) faai o
T g7
[Question ID = 910][Question Description = Q52_AWM_PA_NAIRAUG4]
1. 0.2
[Option ID = 3637]
2. 025
[Option ID = 3638]
3. 0-3
[Option ID = 3639]
4 035
[Option ID = 3640]
Correct Answer :-
® 025

[Option ID = 3638]

53) The minimurn ofiginating Brake Power for Premiuim Rakes after

examination at the nominated point for Premium Examination should be:

it & wiiE g Aad 65 W 9 & g Wity @l @1 A0y
R s R oot 2 T
[Question ID = 911][Question Description = Q53_AWM_PA_NAIRAUG4]
1. 90% (Ninety percent) / 90% (&l Tf)
[Option ID = 3641]
2. 95% (Ninety-five percent) / 95% (JeT=el W)

[Option ID = 3642]
3. 100% (Hundred Percent) / 100% (37 W)

[Option ID = 3643]

None of the given choices is correct answer !ﬁqnﬂﬁmﬁﬁﬂﬁé Ui g8t
IWAE e

[Option ID = 3644]

4.

Correct Answer :-

* 95% (Ninety-five percent) /| 95% (JETTs! TiTSie)

[Option ID = 3642]



54) Fillin the blanks respectively in order in the following statement:
Brake Power Ceriificate (BPC) for the Contalner wagon rakes after
examination at the nominated base depot shall be valid for km

or days, whichever is earlier.

e &y 3 ma: e A @1 gfd o

g < U1 0% Sita & 91e HeR 3T 3% & o/ 5 JiaX Alefthae
(@) ez fert & fore, =it R uga 91, 3w
Eul

[Question ID = 912][Question Description = Q54_AWM_PA_NAIRAUG4]
1. 6000 km or 20 days / 6000 faii @1 30 fe

[Option ID = 3645]
2. 6000 km or 20 days /6000 fadi 1 20 &9

[Option ID = 3646]
3. 5000 km or 40 days / 6000 foeft a7 40 37

[Option ID = 3647]

None of the given choices is correct answer / feu T el o @raﬂ}‘ g agi
TR B
[Option ID = 3648]

Correct Answer :-

None of the given choices is correct answer / fgu T el o @raﬂ}‘ 0 agi
TR S
[Option ID = 3648]

55) During freight examination, what is the condemning limit for the brake
blocks in Indian Railways?

HARPIS & i & I HRA Yad § 55 siid! B PUSHATH ST ol 27
[Question ID = 913][Question Description = Q55_AWM_PA_NAIRAUG4]
1. 10 mm / 10 f&t

[Option ID = 3649_]
2. 15 mm /15 foft

[Option ID = 3650]
3. 20.mm /20 e

[Option ID = 3651]

None of the given choices is correct answer / fﬁf{ﬂ‘lﬁaﬁ‘ﬁﬁ %Ehll'é @l
TR §
[Option ID = 3652]

Correct Answer :-

® 10 mm /10

[Option ID = 3649]

56) Which of the following Indian Railway wagons is designed for 25T axle
load?

FERfEn T ®F O YR Yo 37 25T Ua s & o8 (S o
EiGIE



[Question ID = 914][Question Description = Q56_AWM_PA_NAIRAUG4]

1. BOXN /€ig9es
[Option ID = 3653]

2. BOSTM1/SRCTH
[Option ID = 3654]

3. BON /e
[Option ID = 3655]

4 BOYEL /dger
[Option ID = 3656]

Correct Answer :-

® BOYEL/dEWgd

[Option ID = 3656]

57) ROH periodicity of BCNHL wagons is months.
diiuTTEns 7l # AR e & 2iRie R b S
B2
[Question ID = 915][Question Description = Q57_AWM_PA_NAIRAUG4]
1.
18

[Option ID = 3657]
2. 24
[Option ID = 3658]

3. 328

[Option ID = 3659]

" MNone of the given choices is correct answer !ﬁq e ﬁmﬁ pig aﬂé uf Hﬁ’{
SR
[Option ID = 3660]

Correct Answer :-

24

[Option ID = 3658]

58) Whe among the following choices is amongst those who should personally
inspect and prepare the condition report for condemnation of underage

wagons?

S AT & R og o w0 3 Bfe s dSteH ol dar
B g it Tl # e o § B e o 82
[Question ID = 916][Question Description = Q58_AWM_PA_NAIRAUG4]

1. PCME / dffeng

[Option ID = 3661]
2. Dy CME/ SrDME /94T 2 / TR Sems

[Option ID = 3662]
3. AWM/ ADME /E &Y. (GHAE,

[Option ID = 3663]

4. SSE/JE/UGUHS /o

[Option ID = 3664]



Correct Answer :-

® Dy CME/SrDME /ST T3 / HifFae Soms

[Option ID = 3662]

59) Inlong haul loco operation without the use of distributed power system,

Brake Pipe (BP) pressure creation is done by

aafea oras el @ S9N & foeT -1 87 o did) 2R H, §6 915y
(@) g Fefald el o € foge g s e

[Question ID = 917][Question Description = Q59_AWM_PA_NAIRAUG4]
1. Only Leading locomotive / Bag Tia? Aemiea

[Option ID = 3665]

2. Only Middle locomotive | Shael H& eieiHied

[Option ID = 3666]
Both Leading and Middle Locomotive simultaneously / ST 31X He

i Eifed Gl B |

[Option ID = 3667]

MNone of the given choices is correct answer / ﬁ{[{ Elits IEETg R Hﬂ’s‘ ﬂ-ﬁl—‘@
IR

[Option ID = 3668]

4.

Correct Answer :-

® Only Leading locomotive / Fad oifer aieimifed

[Option ID = 3665]

60) In Indian Railway freight operations, maximum permissible speed of 'C’
class ODC on BG Main Line is:

R ¥ad o HierTra] o aiearas 5. sieil B9 aga | 4of S ot
SfiEaH 2RE TG i @

[Question ID = 918][Question Description = Q60_AWM_PA_NAIRAUG4]
1. 25 kmph / 25 f&H ofg |e

[Option ID = 3669]
2. 40 knph / 40 Tt ufy we

[Option ID = 3670]

3. 08 kmph /08 [ ot He

[Option ID = 3671]

MNone of the given choices is correct answer / Gz fapeat ﬂﬁ&ﬁ% @t
TWAG

[Option ID = 3672]

4.

Correct Answer :-

* 25 kmph / 25 fH ot He

[Option ID = 3669]



61) Diameter of new wheel and condemning size of wheel in WDG4G
locomotive is & respectively

WDG4G Tismifed B 70 =i &1 1 3R Fid & Bau-T HIgs A
ENE 2

[Question ID = 919][Question Description = Q61_AWM_PA_NAIRAUG4]
1. 1092 mm & 1016 mm / 1092 folt 377 1016 et

[Option ID = 3673]
2. 1098 mm & 1016 mm / 1098 B &% 1016 fipdt

[Option ID = 3674]
3. 1092 mm & 990 mm / 1092 foHT 2% 990 fat

[Option ID = 3675]

MNane of the given choices is correct answer / LRI fAeeaid o fﬁ’{ i
TRl g

[Option ID = 3676]

Correct Answer :-

* 1092 mm & 1016 mm / 1092 f&mt 3% 1016 ot

[Option ID = 3673]

62) How miuch is gross Horsepower of WDG-4G Diesel Locomative?

SergEfe-4oi o S mies B o e e 87

[Question ID = 920][Question Description = Q62_AWM_PA_NAIRAUG4]
1. 4000 HP / 4000 T
[Option ID = 3677]
2. 4500 HP / 4500 TE .
[Option ID = 3678]
3. 4800 HP/ 4600 TE.UL

[Option ID = 3679]
MNone of the given choices is correct answer (faE T A g Eﬁiﬁ i Hﬁ?

STRAG

[Option ID = 3680]

4.

Correct Answer :-
® 4500 HP / 4500 TE I,
[Option ID = 3678]

63) Which of the following locomotive is AC-DC Locomotive?

Fafeias & 9 &5 o aemiits AC-DC diwHiita 82

[Question ID = 921][Question Description = Q63_AWM_PA_NAIRAUG4]
1. WDM-3A / S=ESITH-3T

[Option ID = 3681]
2. \WDG-4G | SEgSIa- 4wl

[Option ID = 3682]

3. WDG-6G / Ssralal-69l

[Option ID = 3683]



None of the given choices is correct answer / 5T T8 fasedl & I #iE off w2t
T ol o

[Option ID = 3684]

4.

Correct Answer :-
* WDM-3A / SEIITH- 3T

[Option ID = 3681]

64) yCD fitted in WDG4D loco is located in oo..oooo.....

WDG4D diel @ veD ... H RE Bl

[Question ID = 922][Question Description = Q64_AWM_PA_NAIRAUG4]
1. Driver Cabin / STt dia

[Option ID = 3685]
2. TCC Compartment / € 31 3 wmcHe

[Option ID = 3686]

3 ECC compartment /£ 8 di e

[Option ID = 3687]

None of the given choices is correct answer / E'E{Tlﬂﬁﬁi_&"ﬁﬁ @raﬁé ki Hﬁ?
TR S

[Option ID = 3688]

Correct Answer :-

® Driver Cabin / STEaY dla

[Option ID = 3685]

65) Inthe GM locomotive WDP4D, the Turbo supercharger is driven by

S TH. fiemicd WDP4D ¥, T8 Guedien & Hafiias sRI S e
[CIGIES
[Question ID = 923][Question Description = Q65_AWM_PA_NAIRAUG4]
1. Exhaust Gas / Tl 19

[Option ID = 3689]
2. Gear Train | TR T

[Option ID = 3690]
3. Both Gear Train and Exhaust Gas / 18R 27 3% Tl 719 gHf

[Option ID = 3691]

None of the given choices is correct answer / E'E{quﬁﬁﬁﬂﬁ @raﬂﬁ ki H‘bﬁ
TR &
[Option ID = 3692]

Correct Answer :-

®  Both Gear Train and Exhaust Gas / 18R 27 3 UrEie 719 g1

[Option ID = 3691]



66) Which of the following does not correcly state the function of Turbo
Supercharger fitted in Diesel Locomotive?

T 13 o o o o iR 1 o) el g i mr o
e &7 ¥ E e 27
[Question ID = 924][Question Description = Q66_AWM_PA_NAIRAUG4]
It compresses Natural Air to higher pressure and density fﬂﬁmﬁ'@
@I 9 a1e AR T IR Ui e

[Option ID = 3693]
Compressed Air has more oxygen per unit volume than naturally aspirated

2. air | YIS AT H W06 9 H TERCs a1 &1 gem | 9 goig AT o
¥ afferiier gl &
[Option ID = 3694]
lts pnmary function is te help throwing exhaust air into the atmosphere /

0w WHTHS o1 e 9 # TgEsa H hed § Hes e

[Option ID = 3695] .
None of the given choices is correct answer i fee wf‘a‘a:—ar@i ﬁ%ﬂﬁif i Tat
TR

[Option ID = 3696]

1.

Correct Answer :-

lts pnmary function is ta help throwing exhaust air into the atmosphere /

U WS @1 e a1 S aigHed H e J Heg # o

[Option ID = 3695]

67) Powerpack of which of the following locomotives has two-stroke Internal

Combustion engine?

FafaRad H 9§ g dismiicd & UiaRle § 6l Kl Aiai® G- 3o o7

[Question ID = 925][Question Description = Q67_AWM_PA_NAIRAUG4]
1. \WDM-3A | S&931TH-3T
[Option ID = 3697]
2. \WDP-4D / Seegsidi-43t
[Option ID = 3698]
3. WDM-2 / SerdsiiH-2

[Option ID = 3699]

MNone of the given choices is correct answer / fﬁq"ﬁ{ﬁﬁ‘ﬁﬁ %Hﬁ?& lﬁ'ﬂtﬁ
SRS &

[Option ID = 3700]

Correct Answer :-

* WDP-4D / Sergsiui-43!

[Option ID = 3698]

68) How many traction motors are there in an ALCO locomotive?

ALCO Timimied & o SavH Aex ot ¢7

[Question ID = 926][Question Description = Q68_AWM_PA_NAIRAUG4]
1. Two/al



[Option ID = 3701]
2. Four/d@X

[Option ID = 3702]
3. six/®8

[Option ID = 3703]
None of the given choices is correct answer / 58 T2 [d@edl § © &1 Ui @81

FWASI o
[Option ID = 3704]

Correct Answer :- Deleted

69) InWDG4 loco, the Specific Gravity of electrolyte of battery is measured
using which of the following instruments?

WDG4 Td! |, dedl & Soiacieee @1 SUfER 9 by Ovd & g AT
T 27
[Question ID = 927][Question Description = Q69_AWM_PA_NAIRAUG4]

- Hydrometer / BIESMHEIER

[Option ID = 3705]

2. Barometer | SUHTT

[Option ID = 3706]

3. Hygrometer / BETHCY

[Option ID = 3707]

Mone of the given choices is correct answer fﬁqmﬁﬁff i ﬁﬂﬂ% ﬂ-‘l’[ﬂ‘é’f
SRR 5

[Option ID = 3708]

4.

Correct Answer :-
®  Hydrometer / ESHIER

[Option ID = 3705]

70) How many Piston rings are fitted in one Power Assembly of HHP (WD G-4)

locomotive?
THUAY] (SES0l-4) ThIAICE B U UGy g § g 0w [ e
B 27
[Question ID = 928][Question Description = Q70_AWM_PA_NAIRAUG4]
" 4/ER
[Option ID = 3709]
2. 5/dig
[Option ID = 3710]
3. 6/9%

[Option ID = 3711]
Mone of the given choices is correct answer (fau Tﬂ!ﬁﬁﬁﬂ ﬁ@iﬁ'&f i 'H€

IR A o

[Option ID = 3712]

4.

Correct Answer :-
® 6/98

[Option ID = 3711]



71) ‘Which one of the following alarms i Alco Laco leads to shutdown of thi
Engine?

ween| o] § FEfiEd § H S 61 S 399 @ 66 B adl 82

[Question ID = 929][Question Description = Q71_AWM_PA_NAIRAUG4]
' Hot Engine Alarm / §i¢ S5 2/@d

[Option ID = 3713]
2. Low Lube oil Alarm / @ T8 G Hed

[Option ID = 3714]

3. Wheel Slip Alarm / Sia &9 2@H
[Option ID = 3715]

4 None of the given choices is correct answer fﬁ'ﬂ,’@ﬁaﬁﬂ e REIEFTQF i g
SR &
[Option ID = 3716]

Correct Answer :-

* Low Lube oil Alarm / & T 1T 3eH

[Option ID = 3714]

72) \Which type of Battery is used in WDP4/WDP4D Locomotive?

WDP4/WDP4D didmiied o it WK @1 desl &l 3uai fasdn ol 87
[Question ID = 930][Question Description = Q72_AWM_PA_NAIRAUG4]

1. Lead acid battery / o3 Tf5g Sedt

[Option ID = 3717]

2. Nicke! cadmium (NiCd) battery / Fiee &SHEs (Nicd) 9
[Option ID = 3718]
3 Lithium jon (Li-ion) battery / Tef7s 2009 (Lidion) "cdt

[Option ID = 3719]
MNone of the given choices is commect answer / fﬁ[{“’f‘!ﬁﬂﬁqfﬁ %ﬁé ﬂ)[F[Eﬁ

TRAE e
[Option ID = 3720]
Correct Answer :-
® Nickel cadmium (NiCd) battery / Fiea dafigd (Nicd) 9231

[Option ID = 3718]

73) Inatwo-stroke engine, the cylinder head of the engine is equipped with:

e Sor 1, 29 ol ieist o | Ay & @ B 22

[Question ID = 931][Question Description = Q73_AWM_PA_NAIRAUG4]
1. Both Inlet and Exhaust Valves | Stie 31X TWHI%E dfed Gl

[Option ID = 3721]
2. Only Inlet Valves / dd gcie died

[Option ID = 3722]
3. Only Exhaust Valves / Sde TSI aTeg

[Option ID = 3723]



Mone of the given choices is correct answer AR e gy Ei'ﬂé uf Eﬁzﬁ
TRAL

[Option ID = 3724]

4.

Correct Answer :- Deleted

74)  Eddy Current Clutch (ECC) is used to couple which two components of
ALCO Diesel Locomotive?

TSl THE g (SR BT SUEN Ued! Siva aidHled & (d 6] Su®me Bl
e @ forg o o 27

[Question ID = 932][Question Description = Q74_AWM_PA_NAIRAUG4]

1. Engine Drive and Radiator Fan / 5 3188 T SUeT U@l

[Option ID = 3725]

2. Traction Generator and Traction Motor / %EFIFI e 3R EHQFI OieR

[Option ID = 3726]

3. Power pack and Expressor / IR O% &ﬁ!mﬁw

[Option ID = 3727]

Nane of the given choices is correct answer / RN Aeemid g fﬁ'a( i T8l
SR T

[Option ID = 3728]

Correct Answer :-

* Engine Drive and Radiator Fan / 35 S1%d 31 J9Ue3 4&l

[Option ID = 3725]

75) In a diesel locomotive, on application of A9, brake application takes place
in
U Sivd diddicd B, AQ & AT OE, 5 i g d ea o
[Question ID = 933][Question Description = Q75_AWM_PA_NAIRAUG4]
1. Only in Train (Trailing Load) / #88 & (eI @18) §

[Option ID = 3729]
Both in Train (Trailing Load) and Diesel Locomotive / %:r[ @ﬁiﬂ TS) AR

St el iHifed gl H

[Option ID = 3730]

3. Only in Diesel Engine | $ad Stoid aidmiaied o

[Option ID = 3731]

MNone of the given choices is correct answer fﬁfﬂ{ Ry ﬁav_e‘ﬁi HY Eb"‘i% i HE:PT
FRAG T

[Option ID = 3732]

Correct Answer :-

, Both in Train (Trailing Load) and Diese! Locomotive / 27 (St wifs) 3
o didmied e o

[Option ID = 3730]

76) The first one hour after-an accident is known as:

G & a1E & Ugel U I P 391 B S 87



[Question ID = 934][Question Description = Q76_AWM_PA_NAIRAUG4]
1. Rescue Hour / §919 9el

[Option ID = 3733]

2. Golden Hour / TesH 28T
[Option ID = 3734]

3. peak Hour / did Her
[Option ID = 3735]

4. Crisis Hour / ¥t bl
[Option ID = 3736]

Correct Answer :-

* Golden Hour / TTeaH ATaY

[Option ID = 3734]

77) Which ane of the following is generally not found in case of sudden

derailment?

T fSiode & R ¥ Ay o 9 amraa: &9 91 el O o o7

[Question ID = 935][Question Description = Q77_AWM_PA_NAIRAUG4]
1. Point of Mount{ POM) / 9iee 3T HIde (41 211.5H)

[Option ID = 3737]
2. Point of Drep (POD) / Tige 3t T (91 31 =)

[Option ID = 3738]
Both POM and POD not found / TT5e 3 Arde (U1 21 TH) R Uise e

31 (9 3 ) B e e

[Option ID = 3739]

None of the given choices is comect answer fﬁ@ﬂ?ﬁﬂﬁﬂﬁ@fﬂfiﬁ ﬂfl?ffﬁ
IWRTE

[Option ID = 3740]

Correct Answer :-

* Point of Mount{ POM) / Jie€ 3T Arde (41 21.5H)

[Option ID = 3737]

78) Caollision of a train carrying passengers is classified in which category of

accidents?
Tl 1 of o T8} o7 &1 cade i gueHIHi & faed A H @iffea fan s
2
[Question ID = 936][Question Description = Q78_AWM_PA_NAIRAUG4]
TooAq T
[Option ID = 3741]
2 B /dig
[Option ID = 3742]
3. g

[Option ID = 3743]

None of the given choices is correct answer / E'E{Tlﬂﬁﬁi_&"ﬁﬁ @raﬁé ki Hﬁ?
TR

[Option ID = 3744]



Correct Answer :-
® A1/1EA

[Option ID = 3741]

79) Which of the following is a part of composition of ‘A'-class ART but not
present in 'B'-class ART?

fmfafEa § 9 Siaar Ao A 9o ART &1 25 § @f ' 4ot ART H
HieE 781 Bia 87

[Question ID = 937][Question Description = Q79_AWM_PA_NAIRAUG4]
1. 140 T BD Crane / 140 & &1 3t &9

[Option ID = 3745]

2. ARME /T IRUAE
[Option ID = 3746]

3. HRD/Tg. AR
[Option ID = 3747]

4. None of the given choices is correct answer / few T fosmedt 9 w5 Wi Ol
SR G

[Option ID = 3748]

Correct Answer :-

® 140 T BD Crane / 140 T4 & 31 5

[Option ID = 3745]

80) Which one of the following does not result in increased proneness of
derailment of Railway Rolling Stock?

Fofafad ¥ 9 @F 9 sRe tad AT ©ie © el 9 9a & SUET @)
eI el 87

[Question ID = 938][Question Description = Q80_AWM_PA_NAIRAUG4]
1. Increased Lateral wheel Force / Tie3d sia B4 H dlg

[Option ID = 3749]
2. Reduced Vertical wheel Load ( aftde mie @i H GH
[Option ID = 3750] .
Decreased Positive angle of attack of wheel / L & uifafed WTe HTE
@ § sl
[Option ID = 3751]
Mane of the given choices is correct answer / e A o ?T-Tfhjl% U gt
EarEnind

[Option ID = 3752]

Correct Answer :-

R Decreased Positive angle of attack of wheel / Eiﬂ?l %1_ Tifeted l':‘,‘ el &ﬁff
3om H &l
[Option ID = 3751]



81) Which of the following website is designed primarily for registering and

redressing grievances of Rail customers?

Frafaran | 4 @i b deue god: 3 SuHisale & Rismd o au s
[Question ID = 939][Question Description = Q81_AWM_PA_NAIRAUG4]
1. |REPS / YTS3msUTy
[Option ID = 3753]
2. ANUBHAV / 3F4d

[Option ID = 3754]
3. RAIL MADAD / 301G

[Option ID = 3755]

None of the given choices s correct answer fﬁ@ﬂ?ﬁﬂﬁﬂﬂﬁﬁ i gt
SWRTE

[Option ID = 3756]
Correct Answer :-
* RAIL MADAD /3@ HEg

[Option ID = 3755]

82) Running time of trains in Working Time Table (WTT) is calculated based on

which one of the following:

AT eTeH Taa (WTT) B ST & 2 g @t o FRefafEa o § feus
TR TR &I &l o
[Question ID = 940][Question Description = Q82_AWM_PA_NAIRAUG4]
" Maximum Permissible Speed(MPS) / i@y wierd i (uadice

[Option ID = 3757]
2. Booked Speed / 998 Tig

[Option ID = 3758]

3. Design Speedfigﬂ. E;!?Bfl—a’

[Option ID = 3759]

None of the given choices 15 correct answer / ERIA G e aﬁ§ i 951
TR 8

[Option ID = 3760]

Correct Answer :-

* Booked Speed / 953 IS

[Option ID = 3758]

83) Working Time Table (WTT) is-issued by:

i e1EH 2o (Seen Al &) fbads gR1 9Tl &1 Sl &

[Question ID = 941][Question Description = Q83_AWM_PA_NAIRAUG4]

1. PCEE / vHE T fagyg geiiax
[Option ID = 3761]
2. PCME / Wi & gifE® Seii-Ee

[Option ID = 3762]
3 pcoM e T Ui TN

[Option ID = 3763]



4 None of the given cheices is cormect answer fﬁ'&@ﬁaﬁ‘ﬂﬁ@faﬁﬁ i Igt
SRR
[Option ID = 3764]

Correct Answer :-

* PCOM / UHE T URETeH Hetd

[Option ID = 3763]

84) ‘Which one of the following statements is not frue for measurement of

Wheel Gauge of coaches in Accident Measurement proforma?

RIS TRt UIeHl o Sl & ogiel Tiel o 0194 & e o a0 e
B O T 9 T8 67
[Question ID = 942][Question Description = Q84_AWM_PA_NAIRAUG4]
Wheel Gauge is to be measured in empty condition of coach / o TS &
FiE @1 @l eufd J 3 9= g
[Option ID = 3765]
Wheel Gauge reading has to be taken at four points / %‘f?’f?ﬂﬁ dfgTaR
fagalimat=arie

[Option ID = 3766] _ '
Wheel Gauge is to be measured at three points / T1e1 119 @I T gl 02

B3 e 1 -1
[Option ID = 3767]

MNone of the given choices is caorrect answer / faI{T[HﬁWQTﬁ %Eh:lé ﬂ-ﬂ'ﬂﬁ
SRS 8

[Option ID = 3768]

1.

Correct Answer :-

Wheel Gauge reading has to be taken at four points / %‘!ﬁﬁﬁﬁ dfeTER
fEgaimciari e

[Option ID = 3766]

85) Which test is performed by Guard and Loco Pilot after attaching a fresh

locomotive to a rake?

e 38 H 1 So Sl & 916 S 2R did] Uhae g &I 9 gemt famr
I 87

[Question ID = 943][Question Description = Q85_AWM_PA_NAIRAUG4]
' Continuity Test / Bl=d5e] o

[Option ID = 3769]
2. Brake Power Test | 9@ JiaT o5&

[Option ID = 3770]

3. Feel Test/ BlEcE

[Option ID = 3771]

4 Mone of the given choices is correct answer / &g Wﬁﬁ@fﬁ@ﬁfﬁi‘ ofi gat
IR &

[Option ID = 3772]

Correct Answer :-

® Continuity Test / Blfedge] &



[Option ID = 3769]

Topic:- AWM_PB_NAIRAUG4

1) Two resistors of six ohm each are connected in parallel. [f-a potential of
three volts is applied across this setup, what will be current (in Amperes)
flowing through each resistor?

T 10 & ol derecH Yo B8 I 99 g0 81 4G 36 ey W OF diee @
faa AT 9T, S Ueie SeRET & vt B are Ry (SRR #) feat
g

[Question ID = 944][Question Description = Q01_AWM_PB_NAIRAUG4]
1.
1

[Option ID = 3773]
2. G-S

[Option ID = 3774]
3. o

[Option ID = 3775]

" Naone of the given choices is correct answer {fae e fameat ﬁﬁﬂ'ﬁé i =g
TR §
[Option ID = 3776]

Correct Answer :-

* 05

[Option ID = 3774]

2) Awire is bent to form a square whose one side is 11 cm. If the same wire is

bent to form a complete circle then radius of the circle will bez.

U (R @ g U &1 g-1d1 771 § forad! U Yai 11 9 o1 g oul ar
B HSe U U0 9 S ST a g9 & B et

[Question ID = 945][Question Description = Q02_AWM_PB_NAIRAUG4]
1. 14 cm/ 14 T

[Option ID = 3777]

2. 7em/79HE

[Option ID = 3778]
3. 22¢m/229Ht

[Option ID = 3779]

Nene of the given choices is commect answer / f&[{ﬂqﬁaﬁ'ﬂfﬁ %Eﬁ% st
TR

[Option ID = 3780]

4.

Correct Answer :-

* 7eomi 73

[Option ID = 3778]



3) Ifa mass of 5 kg is lifted vertically by a distance of 50 cm on earth (where g
= 10 mys2), calculate the work done in the process.

TfE 5 kg GoETH @1 Ol UX 50 cm 1 g4l O IR IS A1 ¢ (F61 g =
10 m/s2), 1 5 Uithan 4 i 718 1 &) 7101 S | Siegl
[Question ID = 946][Question Description = Q03_AWM_PB_NAIRAUG4]

' 250
[Option ID = 3781]
2. 95
[Option ID = 3782]
3. 25
[Option ID = 3783]
4. None of the given choices is correct answer / feu T Aewl d 9 @ O gl

TR ©

[Option ID = 3784]
Correct Answer :-
L]

25

[Option ID = 3783]

4) How many seats in Lok Sabha are filled by General Elections?

Ay o b diE 2ma gaE | W3 S 87
[Question ID = 947][Question Description = Q04_AWM_PB_NAIRAUG4]
1. 540
[Option ID = 3785]
2. 543

[Option ID = 3786]
3. 545

[Option ID = 3787]

None of the given choices is correct answer ARy e gy Ei'ﬂé Ui Eﬁzﬁ
TRAL

[Option ID = 3788]

4.

Correct Answer :-
® 543

[Option ID = 3786]

5) Name the National Bird of India.

HIRE TP ua BT AW EEed
[Question ID = 948][Question Description = Q05_AWM_PB_NAIRAUG4]
' Indian Peacock / HRHHE AR

[Option ID = 3789]
2. Parot / Tl

[Option ID = 3790]

3. Cuckoo / BTT



[Option ID = 3791]

MNone of the given choices is correct answer / LRI IGEAL R Eh:i’a( i
TR

[Option ID = 3792]

4.

Correct Answer :-
* Indian Peacock / YRGHT AR

[Option ID = 3789]

6) India's highest arch Rail Bridge is situated across which River?
HIRE @1 Tad I £ 0d fobel a1 0% f&d 87
[Question ID = 949][Question Description = Q06_AWM_PB_NAIRAUG4]
" Ravi/ @
[Option ID = 3793]
2. Chenab/ 99§

[Option ID = 3794]

3. Brahmaputra / SgIqA
[Option ID = 3795]

) None of the given choices is correct answer / f&T 7T fd@el # 9 15 i 9t
TR
[Option ID = 3796]

Correct Answer :-

* Chenab/TE

[Option ID = 3794]

7) How many open Line Railway Zones are in India (excluding Metro

Railway)?

e B e i eige Yod o © (B Yo @ Sledy)?
[Question ID = 950][Question Description = Q07_AWM_PB_NAIRAUG4]
16

[Option ID = 3797]
2 18

[Option ID = 3798]
319

[Option ID = 3799]

None of the given choices is correct answer fﬁ({ e ﬁﬁcﬁ ffl-él ﬂﬂﬁ of Hfﬁ
SRR ¢

[Option ID = 3800]

Correct Answer :-
® 16

[Option ID = 3797]

8) What is width of BG Railway track in India?

YR H ol Sl Yad o @l @ISl o o7

[Question ID = 951][Question Description = Q08_AWM_PB_NAIRAUG4]



1. 1.600 M/ 1.600 Hiex

[Option ID = 3801]
2. 1676 M/ 1676 HiTT

[Option ID = 3802]

3. 4m/1HER
[Option ID = 3803]

None of the given choices is correct answer fﬁﬁ{’mﬁﬁ‘ﬁ ﬁﬁ@% ﬂﬂ_ﬂ_ﬁﬁ
SR AL &

[Option ID = 3804]

Correct Answer :-

® 1676 M/ 1676 HIER

[Option ID = 3802]

9) On which date was the first Passenger Train run in India?

YR H ggdl gl Yernal s airE @l 9 s 7

[Question ID = 952][Question Description = Q09_AWM_PB_NAIRAUG4]
1. April 18 1853 / 18 21 1853

[Option ID = 3805]
2. April 16 1853 / 16 3 1853

[Option ID = 3806]
3. April 16 1854 1 16 3T 1853

[Option ID = 3807]
MNone of the given choices is correct answer / fau Tﬂ;‘ﬁﬁffﬁ q Eﬁﬁ i @t
TR S

[Option ID = 3808]

Correct Answer :-

* April 16 1853/ 16 30T 1853

[Option ID = 3806]

10)  Who was the Chairman of the Drafting Committee of Indian Caonstituent
Assembly in 19477

1047 T WA S T S ST Wi & e s 47

[Question ID = 953][Question Description = Q10_AWM_PB_NAIRAUG4]
1. Dr B.R Ambedkar / 37 &1, 2R €357

[Option ID = 3809]
2. DrKMMunshi /3T & T A0

[Option ID = 3810]
3. Dr Rajendra Prasad /21 =g U1G

[Option ID = 3811]

None of the given choices is correct answer / ﬁqWﬁﬁﬁd\fﬁ @Iﬂﬂé g T
TR S
[Option ID = 3812]

Correct Answer :-

* DrB.R Ambedkar/ 3T 913K d559



[Option ID = 3809]

11)  Which of the following rivers drains info the Arabian Sea?

e & & @i 0 7dl ere wrR H i 37

[Question ID = 954][Question Description = Q11_AWM_PB_NAIRAUG4]
1. Kaveri | BEIT
[Option ID = 3813]
2. Mahanadi / HeTa
[Option ID = 3814]
3. Nammada / FHTT

[Option ID = 3815] .
None of the given choices is correct answer / T8 10 fagedl § € Sig it T8

TR T
[Option ID = 3816]

Correct Answer :-

®  Narmmada / FHg

[Option ID = 3815]

12) Armrange the following rivers as we encounter them if we travel across India

from North to South: Narmada, Kaveri, Krishna, Ganga.

o 50 TR H S8 HIRa @ AR 96 S 0l FEiad Aedl &f 9w |
S @1 forg H ¥ 3 gaR ame et e, BEd, s, T
[Question ID = 955][Question Description = Q12_AWM_PB_NAIRAUG4]
- Ganga, Kaveri Krishna,Narmada / 7711, STa1 95907, HaT

[Option ID = 3817]
2. GangaNarmada, Kaveri Krishna / W,ﬂﬂ?ﬂ,a?ﬁﬁ,éiﬂlﬂ

[Option ID = 3818]

Ganga Narmada Krishna, Kaveri / T T8 ST H1a4

[Option ID = 3819]

Mone of the given choices is correct answerfﬁ'l’{"ﬁ!ﬁm ﬁfﬁfﬁg ﬁl?‘:ﬁ
FW G §

[Option ID = 3820]

4.

Correct Answer :-

Ganga Narmada Krishna, Kaveri / Tﬂﬂmﬁﬁfﬂ?ﬁﬁﬁ

[Option ID = 3819]

13) Chandrayaan-2 of ISRO landed on the South Pole of the Moon. This
landing peint has been officially named by India as

5N & URgH-2 9 951 & alvll §F U 30| 39 ol Ulse &) URA A
AN TR O3 &1 M a1 87

[Question ID = 956][Question Description = Q13_AWM_PB_NAIRAUG4]

1. Vikram Point / f[9@d @Ee



[Option ID = 3821]
2. Shankar Pairt / Ti&% @Ec

[Option ID = 3822]
3. Shiv Shakti Point / 218 Irfag @ge

[Option ID = 3823]

None of the given choices is correct answer JFQ*E{ RlLe ﬁﬁlﬂ ﬁiél ﬂﬂﬁ of Hfﬁ
SRR ©

[Option ID = 3824]

4.

Correct Answer :- Deleted

14)  our couniry recently overtook which country to become the world's fifth

largest economy on the basis of Gross Domestic Product?

BURT 49 3101 & Udd Iig SIE & 2THR TR 3y 39 uiad! 921 anfemawmyn
& o W 1 i a9 § o P e

[Question ID = 957][Question Description = Q14_AWM_PB_NAIRAUG4]
1. Japan/ <T4H

[Option ID = 3825]

2. United Kingdom / gTgcs i sA

[Option ID = 3826]

3. Germany / A1

[Option ID = 3827]

Mone of the given choices is correct answer fﬁ":{ Wﬁﬁf@f i Eﬁﬁ o Gﬁ’f
IWAE g

[Option ID = 3828]

Correct Answer :-
® United Kingdom / TTgcs fdrsH

[Option ID = 3826]

15)  Which one of the following is the tallest statue of the world?

Fofeiad o 9 oy &1 e SO shmr s 9 82
[Question ID = 958][Question Description = Q15_AWM_PB_NAIRAUG4]
' Spring Temple Buddha / F&r 2mme 95
[Option ID = 3829]
2. Statue OF Belief | To 3TF fNei®
[Option ID = 3830]
3. Statue OF Unity / T2 3T gt

[Option ID = 3831]

Mone of the given choices is comrect answer / fﬁqﬂqﬁﬁ@fﬁ %Eﬁlﬁ Wi Tl
TR E

[Option ID = 3832]

4.

Correct Answer :-
* Statue Of Unity / %20 3415 9t

[Option ID = 3831]



16) Which of the following is not a UNESCO world Heritage site owned by
Indian Railways?

ofefEa & & o o YR tod & it 9 ! Y ke a9t
22

[Question ID = 959][Question Description = Q16_AWM_PB_NAIRAUG4]

1. Daneeling Himalayan Railway / aifaon feamgs Yad

[Option ID = 3833]
Chhatrapati Shivaji Maharaj Terminus, Mumbai / B39/ FRIdmel S8R

[ 1] -H.aﬁ
[Option ID = 3834]
3 Kalka Shimla Railway / ST FEHe Sad

[Option ID = 3835]

MNone of the given choices is correct answer / ﬁ'l'{ﬂqﬁﬁiﬂ | Eh:ié ﬂTQ—Té’I
TR o
[Option ID = 3836]

Correct Answer :-

None of the given choices is correct answer / 3T T2 fd@edl § & @15 o I8t
L]
TR

[Option ID = 3836]

17) Which is the Oldest Functioning Railway Workshop in Indian Railways?

YR Yeid H el QU] S1ded dod dehRiy B 91 52

[Question ID = 960][Question Description = Q17_AWM_PB_NAIRAUG4]
1. Kharagpur Workshopn‘wilﬁﬂﬁq

[Option ID = 3837]

2. Ajmer Workshop / 3SR gETT

[Option ID = 3838]

3. Jamalpur Workshop / STHIETIR G

[Option ID = 3839]

None of the given choices is correct answer AGLRIY e Hﬂﬁ i Hﬁ?
SRR §

[Option ID = 3840]
Correct Answer :-

* Jamalpur Workshop / SHIATR dH9d

[Option ID = 3839]

18) In which language was the Sangam Literature originally composed?

T i Hea: ey o X1 T Are
[Question ID = 961][Question Description = Q18_AWM_PB_NAIRAUG4]
1 Tamil / Gfaw

[Option ID = 3841]



2. Malayalam / T9TTH

[Option ID = 3842]
3. Kannada/@¥g

[Option ID = 3843]

None of the given choices is correct answer / {52 ¢ fageal # d o5 +f 981
SR
[Option ID = 3844]

Correct Answer :-

® Tamil/dEdA

[Option ID = 3841]

19) How many spokes are there in Ashoka Chakra in our National Flag?

SR 7T e 2 S 9 Rl e 82

[Question ID = 962][Question Description = Q19_AWM_PB_NAIRAUG4]
1. 23

[Option ID = 3845]
2. 24

[Option ID = 3846]
3. 95

[Option ID = 3847]

Mone of the given choices is correct answer few RS fawenl § e Wi adt
ERis i

[Option ID = 3848]

Correct Answer :-

° 24

[Option ID = 3846]

20) When is Interriational Day of Yoga celebrated?

et i faas oa w87
[Question ID = 963][Question Description = Q20_AWM_PB_NAIRAUG4]
1 21 June/ 214
[Option ID = 3849]
2. 22 June /2251

[Option ID = 3850]
3. 23 March/ 2389

[Option ID = 3851]
None of the given choices is correct answer { /G2 ¢ famedi g Eh:]EF i gt

TR ©

[Option ID = 3852]

4.

Correct Answer :-

¢ 21June/211

[Option ID = 3849]



21)  \Who composed the Indian National Anthem?

IR I &1 35 oo B12

[Question ID = 964][Question Description = Q21_AWM_PB_NAIRAUG4]
1. Bankim Chandra Chatterjee / 551 95 Tl
[Option ID = 3853]

2. Rabindranath Tagore / Td5TY 21R

[Option ID = 3854]

3. Ramdhari Singh Dinkar / TR g faqax

[Option ID = 3855]

Mone of the given choices is correct answer / fﬁI{Wﬁﬁ-ﬂTﬁ %Ehalé ﬁﬂiﬂ
SRS 8

[Option ID = 3856]

4.

Correct Answer :-
®  Rabindranath Tagore / Tl 2711T

[Option ID = 3854]

22) Which is the lightest element in the Penodic Table?

ad aRl | T 5wl O S 91 e?

[Question ID = 965][Question Description = Q22_AWM_PB_NAIRAUG4]

1. Aluminium / Gegili=ag

[Option ID = 3857]

2. Hydrogen / § QS-HIG;I

[Option ID = 3858]

3 Lithium / TR

[Option ID = 3859]
MNeone of the given choices is commect answer / f&[{ﬂqﬁﬁﬂfﬁ %Eﬁ% ﬂﬂﬁiﬁ

TR 5l g

[Option ID = 3860]

4.

Correct Answer :-
® Hydrogen/® QS;IG;I

[Option ID = 3858]

23) Arrange the following fractions in increasing order
A=1417, B=11M13, C=7/9, D=16/19
frpfefas fin! & 9ed 0 & oeiRE o1

A=14/17,  B=11/13, C=7/9, D=16/19

[Question ID = 966][Question Description = Q23_AWM_PB_NAIRAUG4]
1. CABD

[Option ID = 3861]
2. cADB

[Option ID = 3862]



3. ADCB

[Option ID = 3863]

" None of the given choices is carrect answer fﬁqmmﬁﬁﬂﬁé 'l-ﬂﬁﬁ
SR T
[Option ID = 3864]

Correct Answer :-

* CADB

[Option ID = 3862]

24) Which ene of the following is a volatile/Flash memory in computer?

FgiaRan § 3 @ 3 e # aivierge/ i A 87

[Question ID = 967][Question Description = Q24_AWM_PB_NAIRAUG4]
1. RAM /3R

[Option ID = 3865]
2. ROM/TH

[Option ID = 3866]

3. HDD /WSSl

[Option ID = 3867]

None of the given cheices s correct answer fﬁqmﬁﬂﬁﬂﬂﬁﬂﬁﬁ ‘mﬂfﬁ
SR T

[Option ID = 3868]
Correct Answer :-

* RAM /¥H

[Option ID = 3865]

25) What is the full form of 35D in computer?

uleT § 55D & 0 S a9 27
[Question ID = 968][Question Description = Q25_AWM_PB_NAIRAUG4]
1. Semi Silicon Drive / S R4 S8a

[Option ID = 3869]
2. Solid Semiconductor Device / Eifore YHiidrsaes f3aEg
[Option ID = 3870]

3. Solid State Drive / Glicis ©C glgd

[Option ID = 3871]

None of the given choices is correct answer | ﬁ'l'{ﬂqﬁﬁiﬂ e | Eh:iﬁ Wi oer
TR

[Option ID = 3872]

Correct Answer :-

* Solid State Drive / Sids ©¢ S84

[Option ID = 3871]



26) Silappadikaram js an Epic Tale of Tamil Literature talks about Epic fight by

a pious and charismaltic lady. Please name the Lady.

REiEERn di itd @1 U@ Agied &1 ¢ Jl Ue aEaH Algal gRI
T4 71C HeTETed g2 o &S H J01 o 991 39 Aige @ AF Sand|

[Question ID = 969][Question Description = Q26_AWM_PB_NAIRAUG4]
1. Kannagi / @@

[Option ID = 3873]

2. Vaijyanthi / 9=l
[Option ID = 3874]
3 Shanti / Tifa

[Option ID = 3875]

MNone of the given choices is correct answer fﬁq e fasei g Eﬁ% diTml
BWA T

[Option ID = 3876]

Correct Answer :-
®  Kannagi / @A

[Option ID = 3873]

27) ‘Where was the Great Bath Located in Indus Valley Civilisation?

%) T T O AEH WA Sal e Ui?

[Question ID = 970][Question Description = Q27_AWM_PB_NAIRAUG4]
" Lothal | Fue

[Option ID = 3877]
2. Harappa / 81

[Option ID = 3878]

3. Mohanjodaro / T RIS

[Option ID = 3879]

None of the given choices is correct answer Tag Tﬁ{ﬁﬂﬁ‘ff 0y Ehjl% o Tgt
TR
[Option ID = 3880]

Correct Answer :-

® WMohanjodaro / T BFIG_IIGE__

[Option ID = 3879]

28) Who is the Vice President of India?

HIT & SURIPUR &1 o7

[Question ID = 971][Question Description = Q28_AWM_PB_NAIRAUG4]
1. Shri Om Birla / 41 31 fa=am

[Option ID = 3881]
2. Shni Jagdeep Dhankar / ol Fd Hids

[Option ID = 3882]
3. Shri M Venkaiah Naidu / 4 T8 déar 9iag

[Option ID = 3883]



" Mone of the given choices is correct answer fﬁq m fasei o Elﬂ% i wal
FRAG T
[Option ID = 3884]
Correct Answer :-

*  Shri Jagdeep Dhankar ( 4 SIS0 ¥ @S

[Option ID = 3882]

29) Which is India's highest military decoration awarded for the highest degree

of valour or self-sacrifice in the presence of the enemy?

I &1 SUiefd | gaie dvar a1 e afiarE & o fag = 9re YRa &
Al ¥ 9 S H 9 87

[Question ID = 972][Question Description = Q29_AWM_PB_NAIRAUG4]

1. Shaurya Chakra / ¥4 %

[Option ID = 3885]
2. Ashok Chakra / 3/¥I% Tb

[Option ID = 3886]
3. paramvir Chakra / T3HER 95

[Option ID = 3887]

None of the given choices is correct answer / feg Wﬁﬂﬁ‘ff b Ehjl% 1 5@l
TR
[Option ID = 3888]

Correct Answer :-

® Paramvir Chakra / TRHAX 98

[Option ID = 3887]

30) |n which City are Olympics 2024 scheduled to be held?

ieifig 2024 foa W H AR 8 aren €2
[Question ID = 973][Question Description = Q30_AWM_PB_NAIRAUG4]
1. Tokyo / Tl

[Option ID = 3889]
2. pars | Ufg
[Option ID = 3890]

3. Seoul / R

[Option ID = 3891]

None of the given choices 15 correct answer / ERIA G e aﬁ§ i 951
TR S
[Option ID = 3892]

Correct Answer :-
® Paris/Ufg

[Option ID = 3890]

31) Danger signals-are red in colour because red colour has:

TR o R AIe 31 & 81 & e o 1 .



[Question ID = 974][Question Description = Q31_AWM_PB_NAIRAUG4]
Highest wavelength and get scattered the least/ S=dH ToTeHE 3R gEY
FH WHIOA

[Option ID = 3893] ) _
Least wavelength and get scattered the least / a9 &5 aulqs IR G499

B UHI0H

[Option ID = 3894]

3. Plea=zant to seefa@%{ﬁﬁ’@a

1.

2.

[Option ID = 3895]

MNone of the given choices is correct answer ffaﬁ{ﬂf{ﬁﬁﬁ_vﬁ ﬁﬁﬂﬂﬁ i 5@
TRAE S

[Option ID = 3896]

4.

Correct Answer :-

Highest wavelength and get scattered the least/ S=0H o IR g
HH WP

[Option ID = 3893]

32) Which country won the recently held T-20 World Cup 2024 hosted jointly in
USA & West Indies?

o1l 81§ el ok 3w 28ie | dyga U S i €20 4y ®U 2024
T < t Sfar?

[Question ID = 975][Question Description = Q32_AWM_PB_NAIRAUG4]

1 South Africa / Gf&T 3BT

[Option ID = 3897]
2. \ndia / HRT

[Option ID = 3898]

3. Australia / Sfectern

[Option ID = 3899]

MNone of the given choices is correct answer fﬁm_ﬂf{ﬁmﬁﬁfﬁé 'Jﬂi:iiﬂ
TR

[Option ID = 3900]

4.

Correct Answer :-

® India / YR

[Option ID = 3898]

33) ‘Which of the following online portals is used for indenting/purchase of
material in Indian Railways?

IR Yo H e #1 wdiersde (W) & o Pt o 5 6 e
e 1 GG fod Sife 87
[Question ID = 976][Question Description = Q33_AWM_PB_NAIRAUG4]
1. FMM /T% THTH
[Option ID = 3901]
2 yUpm/gSiEd

[Option ID = 3902]
3. HRMS/TY AR UATHE



[Option ID = 3903]

Mone of the given choices is correct answer fﬁq m [EEastiR:R Eﬁﬁ HiTgl
SR T

[Option ID = 3904]

4.

Correct Answer :-
* uDm/TSiTH

[Option ID = 3902]

34) Signal is camed through optical Fibre using following Principle of Optics.

TBITRIE! o MR [ @1 Sl i R &1 3{iPme BEeR &
TeEH g 9 S ol
[Question ID = 977][Question Description = Q34_AWM_PB_NAIRAUG4]
1. Refraction / Taa

[Option ID = 3905]
2. Diffraction / faad9

[Option ID = 3906]

3. Total Internal Reflection / T01 3faRe W&t

[Option ID = 3907]

None of the given choices is comect answer / E'E m formid g ?ﬁf o H‘@PI
TR &

[Option ID = 3908]

Correct Answer :-

* Total Internal Reflection / QU1 S{iads TRIg0

[Option ID = 3907]

35) Complete the following satement, "As per Hooke's law,._.."

FrfeREn &y 31 U3 &5, 5% o F9 & HERE,

[Question ID = 978][Question Description = Q35_AWM_PB_NAIRAUG4]
1 Stress is directly proporiional to strain within elastic imit / Qﬂmm%ﬁ

1l wftiea faefa & waEi® giar s
[Option ID = 3909]
Strain is directly proportional to applied stress within elastic limit / ﬁﬁ@?ﬁ

T & vier fagfa, @ me vitea & i eaEmie S e

[Option ID = 3910]
Strain is always directly proportional fo applied stress / ﬁ@fﬂﬁﬁw amifae

TAE & FHHAIAS gl &

[Option ID = 3911]

None of the given choices s correct answer !E‘QTFQ]%W‘IH ﬁﬁﬁé i H‘Eﬁ
TS S
[Option ID = 3912]
Correct Answer :-

Strain is directly proportional to applied stress within elastic limit / ﬁﬁ@?ﬁ
e & vier fasfa, @ e wited & S wEEmias g e

[Option ID = 3910]



36) wWhich of the following cannat be called Green Energy?

Frafufaa 5 2 a0 i o=t =2 Sl = TEdn
[Question ID = 979][Question Description = Q36_AWM_PB_NAIRAUG4]
1. Wind energy / Ta Gl

[Option ID = 3913]

2. Solar Energy / 9% Sl

[Option ID = 3914]

3. Thermal Energy / TTHR Goel

[Option ID = 3915]

None of the given choices is comrect answer [ fau m foFmida Hﬂ# il
ERLE i

[Option ID = 3916]

Correct Answer :-

* Thermal Energy / A0 el

[Option ID = 3915]

37)  According to Newion's Third Law of Mation, if you push agairist a wall with
a force of 10 N, the wall pushes back with a force of;

e & TMid & die 788 & 38R, 3ig 21 5 dar ) 10 ged aa |
Hefh] ol 8, T SIaR SAT0F] 59 90 9 Ud9 odl ©
[Question ID = 980][Question Description = Q37_AWM_PB_NAIRAUG4]
1 ON/O=ET
[Option ID = 3917]
2. 5N/53EA
[Option ID = 3918]
3. 10N/10TET

[Option ID = 3919]

None of the given chioices is correct answer / ﬁ‘qwﬁaﬁﬁiﬂ T Eﬁﬁ ?ﬂ'ﬂ'ﬁﬁ
WA

[Option ID = 3920]

Correct Answer :-

® 1ON/10EE

[Option ID = 3919]

38) Archimedes' principle states that the buoyant force on an object submerged

in a fluid is equal io the .
SfhTESTer o7 Rgia dedl ¢ & [l avd Uar & gel gs aeg U< ave aral
St g 9 # 9 e e g e

[Question ID = 981][Question Description = Q38_AWM_PB_NAIRAUGH4]
1. Weighl of the object ! 9% @1 HI¥

[Option ID = 3921]
2. \/olume of the fluid displaced by the object / %] SR1 [I=RITUT 54 &1 T

[Option ID = 3922]



3. Weight of the fluid displaced by the object / G5 GRT faRyTiUT &9 &1 4

[Option ID = 3923]

None of the given choices is correct answer fﬁﬁ"ﬂ'{ﬁﬁ‘ﬂ ﬁ@laﬁé ot et
TRAS

[Option ID = 3924]

4.

Correct Answer :-
® Weight of the fluid displaced by the object | %] BN [ARyTite 54 @ ¥R

[Option ID = 3923]

39) What s the full form of IRIMEE?

A ARATEUASS ( SRAT ) @1 0 w0 31 82

[Question ID = 982][Question Description = Q39_AWM_PB_NAIRAUG4]
Indian Railway Institute of Mechanical and Electrical Engineering / YRAH
[Option ID = 3925]

Indian Railway Institute of Mettalurgical and Electnical Engineernng / YRAY

[Option ID = 3926]
Indian Railway Institute of Mechanical and Electronics Engineering / HRA g

[Option ID = 3927]

None of the given choices is correct answer / 5T T fowedl & & &g Wt oat
IWAE e

[Option ID = 3928]

1.

Correct Answer :-
Indian Railway Institute of Mechanical and Electrical Engineering / YRHH

[Option ID = 3925]

40) An engineer invests 1000/~ at an Annual Interest Rate of 10%,
compounded annually. What will be the total Maturity Value amount after 3
years?

T AT 10% Tihgls =0e & O 31000/~ &1 Fa9 @l ¢, fogd =
W alfte w0 o SIS Bl o 3 TY &G Ho Iassa Jed UL & eni?

[Question ID = 983][Question Description = Q40_AWM_PB_NAIRAUG4]
1. 1331~

[Option ID = 3929]

2. ®1210/-

[Option ID = 3930]
3. %1300~

[Option ID = 3931]

MNone of the given choices is correct answer ff&*[{ﬂﬂﬁﬁlﬁ f{ﬁaﬂé ‘J-ﬁﬁﬁ
ST ei g

[Option ID = 3932]

4.

Correct Answer :-



¢ 1331~

[Option ID = 3929]

41) Which of the following languages is not included in the Eighth Schedule of
the Indian Constitution?

RO T & arad A | e 9w oy e a6 32
[Question ID = 984][Question Description = Q41_AWM_PB_NAIRAUG4]
1. Dengri / SMRT

[Option ID = 3933]
2. Sanskrit / T
[Option ID = 3934]
3. Nepali /=OreR
[Option ID = 3935]
4. Bhojpuri | HTeTg<
[Option ID = 3936]
Correct Answer :-
* Bhojpuri / HIwgd

[Option ID = 3936]

42) When did Section 3({3) of Official Languages Act, 1963 come into force?

TSHET A, 1965 @1 URT 3 (3) &6 § Al 837
[Question ID = 985][Question Description = Q42_AWM_PB_NAIRAUG4]
1. 15 3T 1965 / 15 August 1965
[Option ID = 3937]
2. 26 9Eadl 1965/ 26 January 1965

[Option ID = 3938]
3. ‘31 {G9= 1965 / 31 December 1965

[Option ID = 3939]

Mone of the given choices is correct answer fﬁ.’l{"[[{ﬁﬁﬂ’f il %Eﬁé b i
SRS &

[Option ID = 3940]

Correct Answer :-

® 26 Fadl 1965/ 26 January 1965

[Option ID = 3938]

43) ‘\Whe is the Chairperson of the Parliamentary Committee en Official
Language?
TCTT ITSTHTH HART & A BH B § ?

[Question ID = 986][Question Description = Q43_AWM_PB_NAIRAUG4]
1. Prime Minister / We-TEAT

[Option ID = 3941]
2. Defence Minister /<& F3l

[Option ID = 3942]
3. Home Minister / T8 Tt



[Option ID = 3943]

Mone of the given choices is correct answer / & Wﬁﬁ@fﬁ@ﬁfﬁi‘ i gat
TR

[Option ID = 3944]

4.

Correct Answer :-

* Home Minister / g Tl

[Option ID = 3943]

44) AT ORI T IS e & SER e
3 82

According to the Official Language Act, which of the following States/Union

Terntories comes under "Region G"7

[Question ID = 987][Question Description = Q44_AWM_PB_NAIRAUG4]
1. Maharashira | HERTY

[Option ID = 3945]
2. Chandigarh / 9237g

[Option ID = 3946]
3. \West Bengal / Gi&W dTTTaf

[Option ID = 3947]

None of the given choices s correct answer fﬁ{qm{ﬁﬁ‘ﬂ ﬁﬁﬂﬁ% ﬂﬂ?‘ﬁﬁ
FWRAE©

[Option ID = 3948]

4.

Correct Answer :-

® \West Bengal / Qi&H &Te

[Option ID = 3947]

45) Who is the Chairpersan of Zonal Railway Committee for Implementation of

Official Language?

el Yad U] HiaE S & e 1F 8 o7

[Question ID = 988][Question Description = Q45_AWM_PB_NAIRAUG4]
. General Manager / FgTHEY®

[Option ID = 3949]
2. Additional General Manager / 30 TglWa 4

[Option ID = 3950]
3. Mukhya Rajbhasha Adhikari / TS T=yTHT HfUER]

[Option ID = 3951]

None of the given choices is correct answer / E'E{Tlﬂﬁﬁi_&"ﬁﬁ @raﬁé ki Hﬁ?
TR G 8
[Option ID = 3952]

Correct Answer :-

® General Manager / FgTUEHS

[Option ID = 3949]



46) When is Hindi Divas celebrated?

Bl Bmw = v 9 27

[Question ID = 989][Question Description = Q46_AWM_PB_NAIRAUG4]
1. 14 September / 14 &g

[Option ID = 3953]
2. 15 September / 15 Fa&ER
[Option ID = 3954]
3. 14 October / 14 3agaT
[Option ID = 3955]
MNone of the given choices is correct answer !fﬂ'ﬁ{ﬂ{{ﬁaﬁﬁ ﬁ%ﬂﬂﬁ i ?Efﬁ'
STRTE g
[Option ID = 3956]
Correct Answer :-

¢ 14 September / 14 R

[Option ID = 3953]

47) godg ey S F S 9 Sueit W enia § {7 R v
Tl ] & euie o i Frteo s 27

Which subcommittee of Pardiamentary Committee on Official Language
carries out periodic inspections of Railway offices to check comphance of
Rules regarding Official Language?

[Question ID = 990][Question Description = Q47_AWM_PB_NAIRAUG4]
1. First subcommittes / Ugeil SUETER
[Option ID = 3957]

2. Second subcommittee / GERI JUHHT

[Option ID = 3958]

3. Third subcommittee / Tl SUEHT

[Option ID = 3959]

None of the given choices is correct answer / [62 712 e i g Hﬂ'{f i wat
T B

[Option ID = 3960]

Correct Answer :-

® Second subcommittee / @'\Pl IoEHm

[Option ID = 3958]

48) According to the Official Language Rules, 1976, India has been divided into

how many Regions on the basis of Language?

ISTHIST 88, 1976 & SER HIRd o3 i WINT & TR 0 fbon a9 &
Fifieed favan 741 g7
[Question ID = 991][Question Description = Q48_AWM_PB_NAIRAUG4]
- Onelu®

[Option ID = 3961]
2. Two /&



[Option ID = 3962]
3. Three/TH

[Option ID = 3963]

MNone of the given choices is correct answer fﬁm_ﬂf{ﬁmﬁﬁﬂﬂé 'Jﬂi:iiﬂ
TR
[Option ID = 3964]

Correct Answer :-

® Three /T

[Option ID = 3963]

49) Section 7 of the Official Languages Act, 1963 is related to which oheof the

following?

T AfRfFEa | 1963 @ uRT 7 Fe O fead i g2

[Question ID = 992][Question Description = Q49_AWM_PB_NAIRAUG4]
Optional use of Hindi or other Official language in judgements, etc., of

1. ‘Supreme Courts | 8T e & ot &Iﬁff%?ﬁmm?mﬁmﬁi
wiese W@

[Option ID = 3965]
Optional use of Hindi or other Official language of state in judgements, etc;,

2. of High Courts / 3T -aaTerd & ol onfe o fGdl @1 I=a & o waayg
YTy & Wies® a4

[Option ID = 3966]

3. Orders promulgated by the President / P91 & ST TG Gl &
[Option ID = 3967] _
Mone of the given choices is correct answer | fG2 T fapaida Hﬁé i st
S
[Option ID = 3968]

Correct Answer :-
Optional use of Hindi or other Official language of state in judgements, etc;,

e of High Courts / 3% TTgTed o ol anfe = fEa a1 Isg &1 2/ T
I & Biese mm g

[Option ID = 3966]

50) What was the main objective of passing Official Languages Act, 19637

TUTHT AR 1962 IR S S HEd J599 &1 U ?

[Question ID = 993][Question Description = Q50_AWM_PB_NAIRAUG4]
To make provision for the continued use of English along with Hindi even

1. after 1965 / 1965 % =g 1 = & 91y IS & T & W) 3@ &1
WG & o o

[Option ID = 3969]
To ensure the use of only Hindi in administrative work after 1965 / 1965 &

e W ] H et Rl & W ol YRl B @ o

[Option ID = 3970]
To ensure the use of only English in administrative work after 1965 / 1965

" e TR S A T R e e



[Option ID = 3971]

None of the given choices is correct answer fﬁqmﬁﬁﬁ ﬁﬁaﬁﬁ ﬂﬂ_ﬂ_ﬁﬁ
TG

[Option ID = 3972]

4.

Correct Answer :-
To make provision for the continued use of English along with Hindi even

* afier 1965 / 1965 & =g 41 i3 & 9y 3 & mom &) o T @1
UEYH & & o

[Option ID = 3969]

51) Inwhich of the following pairs is the correct Hindi translation of the English
word not given?

e H @ fw g o ol o o ot [ orae = R man g 2

[Question ID = 994][Question Description = Q51_AWM_PB_NAIRAUG4]
1. Divisional Railway Manager — VST 0 Hatd

[Option ID = 3973]

2. Draft — URSY
[Option ID = 3974]

3. Charge Sheet — R0 T
[Option ID = 3975] _

4. Railway coach — ¥@Ta!
[Option ID = 3976]

Correct Answer :-

® Railway coach — e 3t

[Option ID = 3976]

52) |n which of the following pairs is the correct Hindi translation of the English

word not given?

Poddfragud o we o o R srae 7 R mm 2

[Question ID = 995][Question Description = Q52_AWM_PB_NAIRAUG4]
1. approval — AT
[Option ID = 3977]

2. sanctioned — &0

[Option ID = 3978]
3. certificate — THITTOH

[Option ID = 3979]
4. Principal Chief Mechanical Engineer — & TifAd Suili-ay

[Option ID = 3980]

Correct Answer :-

*  Principal Chief Mechanical Engineer — T84 Tif3d Sefi1aY

[Option ID = 3980]



53) Which of the following awards is given for writing poetry/ghazal collections
by Indian Railway empioyees?

AHY| o] gl B AT 99T o og M9 H | i a1 R fEar
TE ?

[Question ID = 996][Question Description = Q53_AWM_PB_NAIRAUG4]
1. Premchand Award / HTHEG [REHN

[Option ID = 3981]
2. Maithili Sharan Gupt Award | AFUERRY] TaT e
[Option ID = 3982]
3. Mahadevi Verma Award / Rﬁlaiﬁ e [EREI RS
[Option ID = 3983]
Mone of the given choices is correct answer fﬁqnﬂﬁﬁ‘ﬂ ﬁﬁﬂﬂﬁ o Hﬁ
SUeel o

[Option ID = 3984]

4.

Correct Answer :-

®  Maithili Sharan Gupt Award | B2e2RY 75 [RE6R

[Option ID = 3982]

54) At present, how many languages are included in the Eighth Schedule of the
Indian Constitution?

fthetgTe Hfdem @i sradl argdl | fdsari {1eme Siifed 82
[Question ID = 997][Question Description = Q54_AWM_PB_NAIRAUG4]
1. 18 languages / 1§ HTE

[Option ID = 3985]
2. 22languages/ 22 HMEIC

[Option ID = 3986]
3. 24 languages / 24 YN

[Option ID = 3987]
MNone of the given choices is commect answer / fﬁ[{“’f‘!ﬁﬂﬁqfﬁ %ﬁé ﬂ)[F[EP{

TRAEE

[Option ID = 3988]

4.

Correct Answer :-

® 22 languages / 22 HIE

[Option ID = 3986]

55) According to which article of the Indian Constitution has it been determined
that the Official Language of the Union of India shall be Hindi and the script

Devanagan?
TFaeT o [0 Irwis & AR Fuff e m g & o & e B
[Question ID = 998][Question Description = Q55_AWM_PB_NAIRAUG4]

1. Section 127 | 3wG 127

[Option ID = 3989]
2. Section 340 / 3FES 340

[Option ID = 3990]



3. Section 343(1) / 3Tw5G 343(1)
[Option ID = 3991]

4 None of the given choices is correct answer fﬁt{mﬁﬁﬁ ﬁﬁaﬁﬁ ﬂ-ﬁ?‘ﬁﬁ
TWRAE &

[Option ID = 3992]

Correct Answer :-
® Section 343(1)/ aﬂﬁ?[ 343(1)
[Option ID = 3991]

Topic:- AWM_PC_NAIRAUG4

1) Folowing statement is part of which rule of Indian Railway Service
(Conduct) Rules 1966: "A railway servant who has received oral direction
from his official superior, shall seek confirmation of the same in writing as
early as possible, whereupon it shall be the duty of the official superior to

confirm the direction in writing."

PR Sy HIRdig Yo SaT (R 9, 1966 & foa e @ fsm
2 Tl Yad Hrar @, om0 aRE aifterd 8 Wids Fdw e gan g,
I gurehy fofEd =0 1 gue! O Wi s diey, o a1g aie e
W1 9 deiod B o6 a8 Mm@ a9 H gy &
[Question ID = 999][Question Description = Q01_AWM_PC_NAIRAUG4]
30

[Option ID = 3993]
2 3(2)()

[Option ID = 3994]
3 32)v)
[Option ID = 3995]
None of the given choices is correct answer / feemm fomegi g5 ﬂiﬂl’g‘i—ﬁ gl
SRR
[Option ID = 3996]
Correct Answer :-
® 3(2)v)

[Option ID = 3995]

2) Which of the following is not a violation of Indian Railway Service {Conduct)
Rules, 19667

ol § 9 oF 9 S YR Yad Sar (raeen) Fan, 1966 B IwaT
- 87
[Question ID = 1000][Question Description = Q02_AWM_PC_NAIRAUG4]
Employing children below 14 years of age for work [/ 14 Ty &g 3ﬂ§§?
T P B UK I

1.

[Option ID = 3997]

2. Subletting of Railway Quarter / Teid HTcY @ 20 el g U2 &l

[Option ID = 3998]



3. Taking Dowry / G T

[Option ID = 3999]

None of the given choices is correct answer IWWW ﬁ@laﬁé ot et
TRAS

[Option ID = 4000]

4.

Correct Answer :-

None of the given choices is correct answer fﬁ{qm{ﬁﬁ‘ﬂ ﬁﬁﬂﬁ% ﬂﬂ?ﬁ"ﬁﬁ
TRAE S

[Option ID = 4000]

3) Which clause of the Indian Railway Servants (Discipline and Appeal) Rules,
1968 specifies Minor and Major penalties?

YRl Yot e s (2R Ud odte) Fow, g BT R arEs Ay wE A
[Question ID = 1001][Question Description = Q03_AWM_PC_NAIRAUG4]
- Rule(g) / FEmg)

[Option ID = 4001]

2. Rule(s)/ FEH(6)

[Option ID = 4002]
3. Rule(11)/ FoE1)

[Option ID = 4003]

Mone of the given choices is correct answer !ﬁ'ﬁ{ﬂﬂﬁmﬁﬁﬁg i a5
IR T
[Option ID = 4004]

Correct Answer :-

* Rule(6)/ FaH(s)

[Option ID = 4002]

4) Which of the following Standard Forms is required to be used for issuing

the order of "deemed suspension”?

S T (Ses Fioed) @1 A 9 $9 od HEaag A 9 fe
e WO &1 SUENT 35T ST A 87

[Question ID = 1002][Question Description = Q04_AWM_PC_NAIRAUG4]
1. SF1 /TH 0H-1
[Option ID = 4005]
2. SFa/THTE-3
[Option ID = 4006]
3. SF2/UHUG-2
[Option ID = 4007]
None of the given choices is correct answer / mwﬁaﬁﬁﬁ @Iiﬁﬁ i gai
TR 8
[Option ID = 4008]
Correct Answer :-
® SF2/EHER-2

[Option ID = 4007]



5) From the point of view of employee's contribution, the New Pension

Scheme is:

FHUN & HIGH & BBV, 75 YIH Tia- 56 TFR o
[Question ID = 1003][Question Description = Q05_AWM_PC_NAIRAUG4]
1. Contrbutory / 3G

[Option ID = 4009]
2. Non Contributory / TR-3/gR}

[Option ID = 4010]
Option to choose as contributory or Non contrbutory / 2=1gRi a1 TR-2er

& w0 H g @ fdew

[Option ID = 4011]

None of the given choices is correct answer / feu e fameat ﬁﬂﬁ i =gt
TR

[Option ID = 4012]

Correct Answer :-

* Contributory / 3{%Grd

[Option ID = 4009]

6) ‘What is the time limit for submission of appeal against a penalty under
Railway Servants (D&A) Rules, 19687

9 U9 (31 & U) oW, 1968 & 050 & & e 2riie U & &) 99g
T 57
[Question ID = 1004][Question Description = Q06_AWM_PC_NAIRAUG4]
1. 30 days /30 f&A
[Option ID = 4013]
2. 45days /45 @A

[Option ID = 4014]
3. 80 days /60 fGT

[Option ID = 4015]

MNone of the given choices is correct answer /e EETiR:E: T:Iﬂ—sf i gt
IR
[Option ID = 4016]
Correct Answer :-
45 days / 45 f&1

[Option ID = 4014]

7) What s the full form of P.T.O_ in Indian Railway Pass Rules?

YT v ur et o O A el & ool W @ g7

[Question ID = 1005][Question Description = Q07_AWM_PC_NAIRAUG4]
1. Personnel Ticket Order / 5 fede 18T

[Option ID = 4017]

2. Permanant Ticket Order | TTAE fEHe U123



[Option ID = 4018]
3. Privilege Ticket Order / fifders E@e ey

[Option ID = 4019]

Mone of the given choices is correct answer / mmﬁﬁiﬂ ff ?.?l Eh)iﬁ ﬂh—”@
RN §
[Option ID = 4020]

Correct Answer :-

* Privilege Ticket Order / iR feme amse

[Option ID = 4019]

8) Maximum how many sets of P.T.0. may normally be issued to a Railway

employee under Indian Railway Pass Rules?

HIRE Yeid 91 ol & ded Ue Yod dHan! @) S Hibear o
o1 & 31 Te T fby o T 82

[Question ID = 1006][Question Description = Q08_AWM_PC_NAIRAUG4]
6 sets both for Gazetted and Non-Gazetted every year from the daie of

1. appuinmentfﬁﬂﬁ?[aﬂﬁﬁﬁmﬁmmmﬂﬁﬁﬁﬂim
6T

[Option ID = 4021]
4 sets both for Gazetted and Non-Gazetted every year from the date of

2. appointnent!ﬁ'ﬂﬁaﬁﬁtﬁﬁmﬂﬁm 3 SR=IET Gl & oY
47T

[Option ID = 4022] _
& sets for Gazetted and 4 sets for Non-Gazetted / IT<97a & fa8 6 ¥ 3R

' T & o 4 Fe

[Option ID = 4023]

None of the given choices is carrect answer fﬁq@ﬁﬁﬁ@lﬂﬁé 'l-ﬁﬁﬁ
SWRART

[Option ID = 4024]

4.

Correct Answer :-
4 sets both for Gazetted and Non-Gazetted every year from the date of

* appointment / FafET @1 Y & e a9 ToaET SR SRISHET Gl & g
4%

[Option ID = 4022]

9) Patemity Leave is admissible to a male Railway Servant with less than two

surviving children for a penod of how many days?

T U By wifag awl ard oY I BHUN @ [ 5 @ oty & foe g
HTHTY WP 87

[Question ID = 1007][Question Description = Q09_AWM_PC_NAIRAUG4]
1. 45 days /45 &=

[Option ID = 4025]
2. 20days/20 &

[Option ID = 4026]
3. 15days/15faT



[Option ID = 4027]

None of the given choices is correct answer / [6T T e d g T:lﬁﬁ i ga
SRAG T

[Option ID = 4028]

4.

Correct Answer :-
* 15days/15fgq

[Option ID = 4027]

10) Child Care Leave can be granted to a female/ single male Railway servant

upto a maximum of how many days?

TS Aige/EHa Joy wad HHan! @ Hfiusad faa &A1 0% ae sy
2T UG foan o Sabdl 87

[Question ID = 1008][Question Description = Q10_AWM_PC_NAIRAUG4]
1. 365 days / 365 &9

[Option ID = 4029]
2. 730days /720 faq

[Option ID = 4030]
3. 700 days / 700 f&A

[Option ID = 4031]

MNone of the given choices is correct answer /fea mr GEGa ek Elﬂ"sf o Eﬁ
TR

[Option ID = 4032]

4.

Correct Answer :-

® 730days/720fGA

[Option ID = 4030]

11) Under Indian Railway (D&AR) Rules, 1968, for a pericd of how many days
can suspension be exiended during each review?

WIRTTT ¥ord (81 48 U2rR) 99, 1968 & g0 Uy GHIET & aRH Haed
o= fal &t 2@ty & o Tgmr o T o7
[Question ID = 1009][Question Description = Q11_AWM_PC_NAIRAUG4]
1. Not exceeding 90 days / 90 TG & aiftie =gt

[Option ID = 4033]

2. Not exceeding 120 days / 120 &7 9 aifée =8f

[Option ID = 4034]

3. Not exceeding 180 days / 180 fo 91 21 =g

[Option ID = 4035]

None of the given choices is correct answer fﬁ({ T ﬁﬁfﬁ fﬂ“:! Ei'ﬂ’é’ Ui H_Eﬁ
SR G 8
[Option ID = 4036]

Correct Answer :-

* Not exceeding 180 days / 180 fg 31 & el

[Option ID = 4035]



12) In UMID module of Indian Railways' medical benefit for serving Railway

employees, there is provision of-

HIRTE J67a & Taideeel oy @& UMID FiS H SaRd Sad @Haied| & [ae
Frafefad weur 3
[Question ID = 1010][Question Description = Q12_AWM_PC_NAIRAUG4]
1. Split Medical identity Card | TaUTiad e tsam 1@

[Option ID = 4037]

2. Consolidated card for a family / Ud 9RER & foru TAfGa &

[Option ID = 4038]
Options can be given for either A or B/ AT B H ¥ ol wer & foe e

e a®md g
[Option ID = 4039]
None of the given choices |s correct answer fﬁl!“fff{ﬁﬁff " @[Eﬁé |
TR
[Option ID = 4040]
Correct Answer :-
* Split Medical identity Card / fauTierd Riden tgaH o3

[Option ID = 4037]

13) Which of the following IT Portals caters to Pensioners for their pension?

Frafias | & &I 91 2Ect e UMl & Gae! 49 &t giaur uar
A7
[Question ID = 1011][Question Description = Q13_AWM_PC_NAIRAUG4]
- ARPAN / 3Ty
[Option ID = 4041]
2. ANUBHAV / 3va

[Option ID = 4042]

3. LUMBS /foreg

[Option ID = 4043]

None of the given choices is correct answer ( 62 T famedt 5 4 EIERY Kl

4.

TR

[Option ID = 4044]

Correct Answer :-
® ARPAN / 3oy
[Option ID = 4041]

14) How many days of LAP can be encashed by a Railway employee at the

time of his his retirement?

U Jad BHAR] A0 SaifAghi & e fio 27 & oS0 casm &
T A Y UHal ¢ |
[Question ID = 1012][Question Description = Q14_AWM_PC_NAIRAUG4]
1. 180 days / 180 fga

[Option ID = 4045]
2. 300 days / 300 f&F



[Option ID = 4046]
3. 500 days /500 &7

[Option ID = 4047]

Nane of the given choices is correct answer / B feraeat o T"-Tfh:ﬁ W wat
Eiteriid

[Option ID = 4048]

4.

Correct Answer :-
® 300 days/ 300 &7

[Option ID = 4046]

15)  Which one of following is a grievance redressal forum between Indian

Railway administration and staff?

Frofefen & 9 ® 9 URGg Yad TEeT 3R S & o Sea
FarRm a2
[Question ID = 1013][Question Description = Q15_AWM_PC_NAIRAUG4]
L pNM T
[Option ID = 4049]
2. DRU.CC /3l yRy
[Option ID = 4050]
3. FROA /UG 3R T

[Option ID = 4051]

MNone of the given choices is correct answer AR famwiH 9 Hﬁﬁ i g2t
SIS T

[Option ID = 4052]
Correct Answer :-
® P.NM./dEEE.

[Option ID = 4049]

16) Which ane of the following is exempted from Factory Act 19487

Fafafga ® 9 59 el afifFom 1948 S g 4 e 82
[Question ID = 1014][Question Description = Q16_AWM_PC_NAIRAUG4]
1. Railway Workshops / ¥oid Gb=ITd
[Option ID = 4053]

2. Railway Production Units / Y69 StTG SHIga0

[Option ID = 4054]

3. Railway Loco Sheds / 3ad Tiid! D9

[Option ID = 4055]

None of the given choices is correct answer / ﬁ?ﬁ{ﬂqﬁﬂﬁﬂ ﬂ ?.?l Ehaiﬁ ‘Jﬁﬂfﬂ
TR

[Option ID = 4056]

Correct Answer :-

* Railway Loco Sheds { ¥ad @i X8

[Option ID = 4055]



17) What is the mimmum Basic Pay ( In Indian Rupee) for a Railway

employee at the lowest Level as per 7th CPC?

7d SR 4o ST & STER FEad TR 0 6d SHaR & o G909 5d

0 (R EOu H ) T 22
[Question ID = 1015][Question Description = Q17_AWM_PC_NAIRAUG4]
1. 26000

[Option ID = 4057]
2 18000

[Option ID = 4058]
3 1800

[Option ID = 4059]
None of the given choices is correct answer / feu ’Tﬂﬁfb_&'ﬂ]f g Eﬁﬁ i o5t
TWRAe 8

[Option ID = 4060]

4.

Correct Answer :-

18000

[Option ID = 4058]

18) How many Levels of pay have been laid down in the Seventh CPC?

TS i do- 2T H 907 o fooa TR i fvd T 27

[Question ID = 1016][Question Description = Q18_AWM_PC_NAIRAUG4]
1.
16

[Option ID = 4061]
2. 17

[Option ID = 4062]

3. 18
[Option ID = 4063]
4 None of the given choices is correct answer | fGU 0 fasedt ﬁ%ﬂﬂ'&f i ggt

FTRAG ©
[Option ID = 4064]

Correct Answer :-

18

[Option ID = 4063]

19)  ‘Which of the following blood relatives is not eligible for Compassionate
Ground Appointment in Indian Railways in case of death of a Railway

empiayee?

T SR B g &1 Rl H Ffeia H 9 &1 9 90 9eE YR sod
o a3 Fgfd & o a5 22

[Question ID = 1017][Question Description = Q19_AWM_PC_NAIRAUG4]

- Married Daughterfﬁaﬂ%ﬂaﬂ

[Option ID = 4065]



2. \Wife | T#l1
[Option ID = 4066]
3. Sisterin Law / 41t
[Option ID = 4067]
Neone of the given choices is correct answer / FQ*E{’TE' ﬁm\fﬂ @fﬂﬂ% i 'HEﬁ
TR T

[Option ID = 4068]

4.

Correct Answer :-
e Sisterin Law / 4Tt

[Option ID = 4067]

20) Which of the following is not specifically mentioned in Canons of Financial
Propriety?

fariig =hfem & fasial § fFeftfo § @ feoe iew s S Sww =&
Bl

[Question ID = 1018][Question Description = Q20_AWM_PC_NAIRAUG4]
The amount of allowances, such as travelling allowances, granted to meet

expenditure of a particular type, should be so regulated that the allowances
are not on the whole sources of profit to the recipients / {4l AW uaR &

T 1 O TR 0T TG0 S aTe) Y, o O HY, 9 i 6 3 R
fafofta e ST aifeT & ud o e raddiel & ard & Sid 9 91
Ei1e

[Option ID = 4069]
No authority should exercise its powers of sanctioning expenditure pass an

order, which will be directly or indirectly to its ewn advantage. / Tt i
TR o) o S o 1 g il & wa e 5T UEl AeE
T T8 e Alfey, = W] 31 e 9 § 96 H0H aid & o gl

[Option ID = 4070]
There is no limit of expenditure on an occasion if it is within budget / Tl

gole o 1o 81 01 Bl oret vt oy &) Big G e B

[Option ID = 4071]

None of the given choices is carrect answer fﬁqﬂﬁﬂﬁﬁﬁ mﬁﬁ}i
IWAe e

[Option ID = 4072]

Correct Answer :-
There is no limit of expenditure on an occasion if it is within budget / afg

’ g & o 8 o) el 2R OX 50y B Brs I el B

[Option ID = 4071]

21) General Financial Rules (GFR) are 1ssued by

T fasi Fom eiewem) fad g s faee =i §7
[Question ID = 1019][Question Description = Q21_AWM_PC_NAIRAUG4]
1. Ministry Of Finance / 8% 9@

[Option ID = 4073]
2. pyo g o 3



[Option ID = 4074]
3. Ministry of Railways / 38 FETe

[Option ID = 4075]

None of the given choices is comect answer / E’E m fomida Hﬂf o Hﬁpf
EiuE S
[Option ID = 4076]

Correct Answer :-

®  Ministry Of Finance / a0 T3

[Option ID = 4073]

22) Which one of fellowing is not true about Charged expenditure in Indian

Railways' financa?

YR Iad & g uuiia s s en ¥ Fofefaa s e sR o sue g
w8l 87

[Question ID = 1020][Question Description = Q22_AWM_PC_NAIRAUG4]
These are not put to Vote in Parliament / E_-Ef' UG H HoaH & foe a1 3

=014

[Option ID = 4077]
2. These can be discussed in Parliament / 39 0% 995 H 99 & 1 J&di &

1.

[Option ID = 4078]
Payment an Salary of Railway Board Official is Charged expenditure EGE

IS o APl P o TG g o 2 1 §

[Option ID = 4079]

None of the given choices (s correct answer / E‘E’, it et g4 EﬁT{ i HEﬁ
TR e 8
[Option ID = 4080]

Correct Answer :-
Payment on Salary of Railway Board Official is Charged expenditure e

IS o et & o WHIRE g & 2t o §

[Option ID = 4079]

23) At which stage of tendering is Eamest Money Deposit (EMD) to be
deposited by the Bidder?

fFiaer & o = o et g/ 9 I (SEHS)) 96 @1 9 87

[Question ID = 1021][Question Description = Q23_AWM_PC_NAIRAUG4]
1. At the time of submission of BID / foe S 4 & 959

[Option ID = 4081]
2. Afer LOA is issued / LOA S 81 & 915

[Option ID = 4082]
3. After Technical Bid is finalised / Ta-ld| {98 @I HIEAd < & 16

[Option ID = 4083]

MNone of the given choices is correct answer / LRI IGEAL R fﬁ’{ i
TR

[Option ID = 4084]

Correct Answer :-



e At the time of submission of BID / {68 91 &39 & 959

[Option ID = 4081]

24) As per MSOP, in case of Open Tenders, SG/JAG officer can accept

fenders upio what value (in Indian Rupees)?

THTE I & TR, ol Fidarsd & aea H, gaeles aftisnd e
e 0 B a6l [eR & 96 o (MR- 392 H)?
[Question ID = 1022][Question Description = Q24_AWM_PC_NAIRAUG4]
1. Upto 50 Lakhs / 50 T8 a0
[Option ID = 4085]
2. Upto 2 Crores / 2 FRIS TF

[Option ID = 4086]
3. Upto 4 Crores / 4 BRI &

[Option ID = 4087]

None of the given choices is correct answer / [ Tﬂ{ﬁﬂﬁﬁ i Eﬁﬁ 4
SR TE ©

[Option ID = 4088]

Correct Answer :-

® Upto 4 Crores [ 4 @18 0@

[Option ID = 4087]

25) Cashawards given to employees are generally classified under which of

the following types of expenditure in Indian Railways?

HIRETT Yerd H SRl Bl G S aTed b GREPRI 1 HHAR TR
P % o TR 3 o7 3 Sfria i e e 27
[Question ID = 1023][Question Description = Q25_AWM_PC_NAIRAUG4]
1. Capital Expenditure / thidcd 599
[Option ID = 4089]

2. Revenue Expenditure / 3¢ % oG

[Option ID = 4090]
3. Conlingency Expenditure / 2T Rg® =4

[Option ID = 4091]

None of the given choices is carrect answer fﬁ'ﬁﬁﬂﬁﬁﬁ@lﬁ 'l-ﬁﬁﬁ
SRR
[Option ID = 4092]

Correct Answer :-

® Revenue Expenditure / EGRIETEEn]

[Option ID = 4090]



26) Please select the upper limit of Value (in Indian Rupees) of Open Tenders
in Works Contract in Indian Railways for which eligibility criteria need not be
specified.

PG UG o9 § 9o Bicae og Gell (1913l & e (YIRdg $ug ) i
SO HIET & T B (oTad (o8 Cfciaalioe] srseeal My e &l
YTl ol ol

[Question ID = 1024][Question Description = Q26_AWM_PC_NAIRAUG4]
1. 10 Lakhs /10 @

[Option ID = 4093]
2. 40 Lakhs / 40 §RE
[Option ID = 4094]
3. 50 Lakhs /50 €@
[Option ID = 4095]
MNone of the given choices is correct answer / f&qﬂqﬁﬁqﬁf %Hﬁ?& lﬁ'ﬂtﬁ
TR

[Option ID = 4096]

4.

Correct Answer :-

® 50 Lakhs /{50 TG

[Option ID = 4095]

27) As per MSOP 2018, what should be normally be the Notice Period (Time
between publication of NIT and Opening of tender) in case of tender value

more than one crore rupees?

THTERUT 2018 & 2ER, U6 &ils 904 § td 0o & Hidal & A §
Aifey @l (TranEd & veEN AR Mg giay & =g & 9Hyg) SER:
g Aee?

[Question ID = 1025][Question Description = Q27_AWM_PC_NAIRAUG4]
1. minimum one month / ZTH T HlE

[Option ID = 4097]
2. minimum 21 days / GAcH 21 &

[Option ID = 4098]

3. minimum 14 days / <375 14 &

[Option ID = 4099]

4 Nane of the given choices is correct answer / ﬁ'&’m{ﬁﬁﬁfﬁ @Tfhllé b el
TR §
[Option ID = 4100]

Correct Answer :-

®  minimum 21 days / ZAdH 21 f¢4

[Option ID = 4098]

28) As per MSOP, General Manager of an Indian Railway Zone wields

TAUHAI & SR, UG o 9 & Hevayd & 98

[Question ID = 1026][Question Description = Q28_AWM_PC_NAIRAUG4]
1. Absolute Power / TsHITIE i ¢



[Option ID = 4101]

2. Full Power / 0T Sfd &
[Option ID = 4102]
3. Negative Power / ToRIHS Tiga

[Option ID = 4103]

None of the given choices is correct answer / E'EZ Rl 1] fTemid s aﬂ# i 'ﬁ'ﬁﬁ
ElLE S

[Option ID = 4104]

Correct Answer :-

*  Negative Power / T@RIeId e &

[Option ID = 4103]

29) In Capital expenditure, which one amongst the following is the miner Plan
Head for Machinery and Plant (M&P)?

Fite w4 d, Fufofen d 3 oF o fiewm =il s e (@ s i &
e AR @ §s 87

[Question ID = 1027][Question Description = Q29_AWM_PC_NAIRAUG4]
1. 22

[Option ID = 4105]
2. 41

[Option ID = 4106]
3 42

[Option ID = 4107]

MNone of the given choices is carrect answer 1 f&u mr CEaw ek Hﬂé o Eﬁ?
IWARI ©

[Option ID = 4108]

4.

Correct Answer :-
® 41

[Option ID = 4106]

30) |n Railway revenue expenditure, which one of the following Primary Units is

reserved for accountal of cost of matenals from Direct Purchase?

g e o o, et o 9 on O urufie oo va B 9 Il
@1 ARG b oRaidA b [a1d A1Hd o7
[Question ID = 1028][Question Description = Q30_AWM_PC_NAIRAUG4]
1. 27
[Option ID = 4109]
2. 28

[Option ID = 4110]
3. 32

[Option ID = 4111]

None of the given choices is carrect answer fﬁq@ﬁﬁﬁ@lﬂﬁé 'l-ﬁﬁﬁ
SWRART

[Option ID = 4112]

4.



Correct Answer :-
® 28

[Option ID = 4110]

31) In Capital expenditure, which one amongst the following is minor Plan Head
for Traffic Facility Works?

Siten ud o, Fofaiaa S & o adme g eat (e bifad
) B W15 W 38 T 07

[Question ID = 1029][Question Description = Q31_AWM_PC_NAIRAUG4]
1.
16

[Option ID = 4113]
2 18
[Option ID = 4114]
342
[Option ID = 4115]
4 None of the given choices is carrect answer fﬁ'ﬁ{ﬂf{ﬁm ﬁ@iﬂ'ﬂé’ ut Eﬁ
WAL S
[Option ID = 4116]
Correct Answer :-
® 16

[Option ID = 4113]

32) As per Price Varation Clause (PVC) of Indian Railway GCC for Services
2018, whai should be the percentage of Labour component in
Housekeeping contracis (in cases where it is applicable)?

YT Yord S mi afdes 2018 & WEd IR gt (0 atEn &
IR, BIOUEIT Fiode H 4H (CTR) T 1 WIS o o] s

TIRT (3 AFEl H @gl 98 a1 8)?
[Question ID = 1030][Question Description = Q32_AWM_PC_NAIRAUG4]
1. 0B

[Option ID = 4117]
2. U-?
[Option ID = 4118]

3. 0.8

[Option ID = 4119]
None of the given choices is correct answer /feu Tﬁ;’ﬁﬂ'ﬁtﬁ g3 Eﬁﬁ 0 a8t
SRS

[Option ID = 4120]

Correct Answer :-

Mone of the given choices 15 correct answer fﬁ[{ Tﬂlﬁﬂ'ﬁfﬁ ﬁ'i “\Ei Eﬁﬁ o Gﬁbf
SRR §

[Option ID = 4120]



33) which of the following Statutory Acts or Provisions is nof listed for
compliance as per Indian Railway GCC for Services 20187

FofafEa § 9 oF w1 auie i o meus uRdig w@d sl Bt
A 2018 F TR AT od THES ol 82

[Question ID = 1031][Question Description = Q33_AWM_PC_NAIRAUG4]
1. Workmen's Compensation Act, 1923 / fhi@ &fagfd afafaw, 1923

[Option ID = 4121]

2. Payment of Wages Act, 1936 / 907 Y7o 29FaH, 1936

[Option ID = 4122]

3. Minimum Wages Act 1948 / ZI-ad Huigel HfaFgm, 1948

[Option ID = 4123]

Nane of the given choices is correct answer / ﬁqwﬁﬁcﬁﬂ%aﬁé W wat
SRS 6

[Option ID = 4124]

4.

Correct Answer :-

None of the given choices is correct answer / ﬁquiﬁﬁﬁ i agt
SR 6

[Option ID = 4124]

34) |n capital Expenditure, the cost of Labour welfare work is financed from:
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[Question ID = 1032][Question Description = Q34_AWM_PC_NAIRAUG4]

1. DF4/SE

[Option ID = 4125]

2. DRl 3Tl

[Option ID = 4126]
3. DRV By
[Option ID = 4127]
4. None of the given choices is carrect answer fﬁ[{ﬂﬂﬁmﬁl}lﬁ 'Jﬂﬁiﬂ
SRS
[Option ID = 4128]
Correct Answer :-

*  DF-l/SuE-|

[Option ID = 4126]

35) Which one of the following expenditures cannot be classified as Revenue
Expenditure?
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[Question ID = 1033][Question Description = Q35_AWM_PC_NAIRAUG4]
1. Salary of Employees / SHAIE! & 304

[Option ID = 4129]



2. Payment to Service Contracts / Jfad @icde o fad & YT
[Option ID = 4130]
3. Construction of New Workshop / T8 TG &1 FHAT

[Option ID = 4131]
None of the given choices is correct answer / 58 T2 3&edl § O @12 i 95

SRR @
[Option ID = 4132]
Correct Answer :-
Construction of New Workshop / T8 HEEH 1

[Option ID = 4131]





